


Overhead Distribution Construction Manual Section 7

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-2



Overhead Distribution Construction Manual Section 7 Section 7

7 SECTION 7 - OTHER POLE MOUNTED PLANT &
ATTACHMENTS

7 SECTION 7 — OTHER POLE MOUNTED PLANT & ATTACHMENTS ... 3
POLE MOUNTED EQUIPIMENT ...ttt ettt ettt ettt ettt e enee b e ane e 4
7.1 100A HV Voltage Regulator Type VR-32 —Pole Mounted.........cccovviiiiiiiiiiieeecc 4
7.2 200A Voltage Regulator Type VR-32 — Platform Mounted............cccccoiiiiiiieece 6
7.3 HV Voltage Regulator Schematic, Earthing & Operational Signs.........cccovviiiiiiiiiiiiiii 9
7.4 200A HV Voltage Regulator Steel WOrK .........eiii i, 10
7.5 ABB Pole Mounted Capacitor Bank ........coooiiiiiiii e, 17
7.6 Line Fault INdicator Tracker LT30 ...co.eie oottt 27
7.7 Surge Diverter Crossarm INstallation........cc..uviiii i, 33
7.8 HV METErNG UNit oo, 34
7.9 ABB Metering Unit with HV Earth Only ....ooovvviiiiiii e, 37
7.10 General Positioning of Attachments at Pole Base.....cccvvvvviiiiiiiiiiiie e, 39
7.11 Signs - Pole AtTaChmMENnt . .o 41
7.12 POlE ATtACRMENTS ..t 42
713 Bird PEICRES ..t 45
UNDERGROUND (UG) CABLE TERMINATIONS ON POLES........ooiiiiiiiiiieee e, 47
7.14 LV UG Cable Termination 0N POIE .........oiiiiiiiii e 47
7.15 11kV or 22kV UG Cable Termination on POIE..........cccuiiiiiiiiiiieiieeee e 50
7.16 11kV or 22kV UG Cable Termination on Pole with LinkS..........cccceiiiiiiiiiiiie 53
7.17 11kV or 22kV UG Cable Termination on Pole with Load Break Switch..........ccccoceiiiiiinnin. 55
7.18 11kV or 22kV UG Cable Termination on Pole with Vertical ABS.........cccccooiiiiiiiiiiieiicinn 56

For Streetlight Brackets Refer to the Public Lighting Manual

Ver. 2.0 Other Pole Mounted Plant and Attachments

Page 7-3



Overhead Distribution Construction Manual Section 7 Section 7

POLE MOUNTED EQUIPMENT
7.1 100A HV Voltage Regulator Type VR-32 — Pole Mounted

1 | 2 | 3 | 4 | 5

NB. POLE TOP DETAIL OMITTED. CONDUCTOR LOCATIONS ARE FOR CIRCUIT ILLUSTRATION PURPOSES ONLY
REFER TO SECTION 7.3 FOR SCHEMATIC AND EARTHING.
AN
A
s
N D
1 o
SLy
/ g
y 594 X 60E “
B | (C59A X608 )
c " 2 - L
ABS SECTION /A INTERMEDIATE
REFER TO SECTION 7.3 FOR SCHEMATIC DIAGRAM AND EARTHING ARRANGEMENT
C
55¢
INCOMING —— 3
il 3
D ,
D 5
3
ABC =i
=
o
o 2
o
2
19F =
E =i
o~
S
2
o~
F
o ‘
> REGULATOR IS ROTATED AND MOUNTED 30°
G = TO THE OVERHEAD LINE TO ALLOW THE
2 INDICATOR DIAL AND CONTROL CUBICLE TO FACE
3 THE ROAD.
[a
° SECTION 2
= POSSUM GUARD =
— 2 TO BE FITTED. f
2 REFER TO DRG Sy
D-0H1-0730-SD-001 -3
s3
[SYaq
5000 35
FOR ABS DETAILS REFER TQ SECTION 5
H [ MINIMUM POLE SIZE 13.5 8kN WS, SUNK 2.tm VIEW FROM ROAD SIDE
MININUM NON-FLASHOVER CLEARANCES BETWEEN LIVE PARTS
AND STEELWORK ARE TO BE MAINTAINED. DIMENSIONS ARE IN MILLIMETRES
(Refer to AS 2067 Table 3.1) APL Nos: REG100/Cooperx2/3 UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y SCALE
i = TasNetworks TILE
-2 100 AMP VOLTAGE REGULATOR NTS
<|z TYPE VR-32 WITH CL-5C CONTROL
ORAWN (5 PRO-SOLUTIONS
x| = BOLT FIXED
w = DESIGNED BY ELECTRO A[”
o
Ll (= (HECKED BY H.WESTBURY
- REVISION
< APPROVED BY - _ _ _ _
DATE APPROVED | 22/FEB/19 D O H [ G O O 2 S D O O W A

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-4



Overhead Distribution Construction Manual Section 7 Section 7
100A Voltage Regulator - Materials List
1 | 2 [ 3 L 5
Unit Assembly Store Type | ltem Ref | Stock Item |Stock ltem Description Quantity
A REG100/COOPERX2/3PLM S 4 323311 |LBracket Mk11 1
(includes X-arms, excludes 5 323312 [Spacing Plate Mk12 12
pole, regulators, ABSs, HVABC) 20 323363 [Transposition Bracket 2
89 66803 |Washer 75 x 75 x 6 (M20 Hole) 2
Bl 15D 323461 |Regulator Mounting Bracket 1
1D 323304 |Crossarm Mk4 5
1E 323305 [Crossarm Mk5 2
B 2B 323317 |Crossarm Strap Mk17 2
35E 141363 |Lug Crimp 70mm2 tinned copper 24
36C 141304 |Q LUG bolted 50 70mm?2 tinned copper 9
36E 141306 |Q LUG bolted 120 150mm?2 tinned copper 7
| 48B 101621 [Conductor AAC - 19/3.25 (Neptune) 18
51P 94184  |Wire Electrical Cu 70mm2 1c Black 30
53H 146440 |Cond Term Hel 19/3.25 AAC 12
54F 146510 |Top Tie Helical 19/3.25 unarmoured 3
C 55C 146618 [Dee Clamp for7.5-16.25mm Dia AL ACSR/GZ(19/2.00 Cu Tail)-355mm Long 6
55D 144950 [Parallel groove clamp (7.0-16.3mm Al) 6
55E 144955 |Parallel groove clamp (7.5-17.5mm Bi metal) 6
55H 146856 |Split Bolt C (up to 19/.083) 10
- 551 225798 |Tee Clamp AL TCDA19 6
59A 322721 [Pin,Insulator 22kV 15
60E 320531 [Insulator Pin 22/450 15
60G 321260 |Insulator Disc Porcelain 16mm 70kN 146mm 24
D 61A 322056 |Ball Clevis & Pin 16mm 12
61B 322386 |Socket Termination 16mm 12
61D 322090 |Kink Pin 16mm 12
| 62F 144620 |Bushing Cover 22kV 6
75P 32289 [Bolt Hex M16 X 375 8
75R 32291 [Bolt Hex M16 X 425 12
75T 32293  [Bolt Hex M16 X 475 6
E 778 33771 [Bolt Tower M12X 35 10
82A 40441 |[Nut M16 52
828 40442 [Nut M20 8
868 65158  [WasherEls 16 26
— 88A 66412 [Washer Tower 12 10
32348  [Bolt Hex M20 x 600 4
2A 323314 [Crossarm Strap Mk14 10
119F 225772 |Surge Arrester 11kV with cap 6 (or AR)
F 119G 225773 |Surge Arrester 11kV with cap 6 (or AR)
G
H
© Tasmanian Networks PTY. LTD. STORED A RETREVAL SYSTEM N ANV FORM,
n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w SCALE
-2 TasNetworks | ™ 130 AMP VOLTAGE REGULATOR N7
<|z — perp—— TYPE VR-32 WITH CL-5C CONTROL
Z E DESIGNED BY | ELECTRO BOLT FIXED A L
L g CHECKED BY H.WESTBURY MATER‘AL L‘ST
: APPROVED BY REVISION
DATE APPROVED | 22/FEB/19 D - O H [ - G 0 O 2 - S D - 0 0 2 A
Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-5




Overhead Distribution Construction Manual Section 7

7.2

200A Voltage Regulator Type VR-32 — Platform Mounted

1 | 2 | 3 | 4 | 5

NB. POLE TOP DETAIL OMITTED. CONDUCTOR LOCATIONS ARE FOR CIRCUIT ILLUSTRATION PURPOSES ONLY.

A S o e —_—
REFER D-OHC-G006-SD-001
A (i) A A(FOR BRKT DETAILS 5 I
] F/\ R 1
L 'C
— > * =
SL ‘ S
B H%% | R
L S 1 S |
[ .
N S
B
119A C ¢ [ o
B . ol |1 e
ABS SECTION . INTERMEDIATE
REFER TO SECTION 7.3 FOR 60 X 59A
SCHEMATIC DIAGRAM AND EARTHING ARRANGEMENT
55C
OUTGOING = 19./3.25 AAC 2
C o
PLEASE CLARIFY §
- -
S
|||
1
[E v B
2
o
D =y
A
B -
2
119F =
— R _of /s J
119G 2
o~ T
60E ]
E 20
310
1 couLb NOT 62F MIN.
FIND NEW S O
REFERENCE T
(C) BouT B) ~—-115Q
IN
F L
INSTALL REDBACK (w28)
INSULATION TUBE ON
LOWER DROPPER LEADS
— 3 _REFER D-OHC-G005-5D-001
i FOR BEAM DETAILS
oOpno
&
E8%n ]
Txxl ! 2
G| 88, J1l z
NN 0 [ | -
Fuouw B T o
Suuu ) =
Sz=2 = 3
siligy :
<T [an}
— nzooS 2 E ENSURE THAT REGULATORS 2
Sssso 2 < ARE CLAMPED TO BEAMS
Zooogo o =
5553 S REFER D-OHC-G10-SD-001 S| MININUM NON-FLASHOVER
sRR737 2 “| CLEARANCES BETWEEN LIVE
Shobah & - ] PARTS AND STEELWORK
u8883s = ‘ 5000 ARE TQ BE MAINTAINED.
H Eiiii 7 NB VIEW FROM ROAD SIDE (Refer to AS 2067 Table 3.1)
m:E:EI:E "
L5353 MN. 13.5m 8kN WS POLES ARE TO DIMENSIONS ARE IN MILLIMETRES
roooo BE USED AND BURIED 2.4m IN GROUND. APL Nos: REG200/Cooperx2/3 UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
n STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR F OF TASNETWORKS
o |y SCALE
] TasNetworks T
] 200 AMP VOLTAGE REGULATOR NTS
<|z - TYPE VR-32 WITH CL-5C CONTROL
ORAWN (5 PRO-SOLUTIONS
el PLATFORM MOUNTED
[ = DESIGNED BY ELECTRO AA
Ll =] (HECKED BY H.WESTBURY
-
< APPROVED BY - D O H[ G O 03 S D OOW REVISION
DATE APPROVED | z2/FEB/19 A

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-6



Overhead Distribution Construction Manual Section 7

200A Voltage Regulator - Materials List

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-7



Overhead Distribution Construction Manual Section 7
P
1 2 3 b 5
A Unit Assembly Store Type | ltem Ref | Stock ltem |Stock ltem Description Quantity
REG200/COOPERX2/3PLM S 4 323311 |LBracket Mk11 1
(includes X-arms, excludes 5 323312 |Spacing Plate Mk12 6
|| pole, regulators, ABSs, HVABC) 20 323363 |Transposition Bracket 2
15C 323349 |V Bracket Mk49 2
16C 323351 |T/F Crossmember Mk51 7
16D 323352 |T/F Prop Lh Mk52 2
B 16E 323353 |T/F Prop Rh Mk53 2
16F 323377 |T/F Guide Mk77 4
1D 323304 |Crossarm Mk4 5
1E 323305 |Crossarm Mk5 2
L] 2B 323317 _|Crossarm Strap Mk17 2
35E 141363 |Lug Crimp 70mm2 tinned copper 24
36C 141304 |Q LUG bolted 50 70mm2 tinned copper 9
36E 141306 |Q LUG bolted 120 150mm?2 tinned copper 7
C 48B 101621 |Conductor AAC - 19/3.25 (Neptune) 18
51P 94184  |Wire Electrical Cu 70mm?2 1c Black 30
53H 146440 |Cond Term Hel 19/3.25 AAC 12
54F 146510 |Top Tie Helical 19/3.25 unarmoured 3
— 55C 146618 [Dee Clamp for7.5-16.25mm Dia AL ACSR/GZ (19/2.00 Cu Tail)-355mm Long 6
55D 144950 |Parallel groove clamp (7.0-16.3mm Al) 6
55E 144955 |Parallel groove clamp (7.5-17.5mm Bi metal) 6
55H 146856 |Split Bolt C (up to 19/.083) 10
D 550 225798 |Tee Clamp AL TCDA19 6
59A 322721 _|Pin,Insulator 22kV 15
60E 320531 [Insulator Pin 22/450 15
60G 321260 |Insulator Disc Porcelain 16mm 70kN 146mm 24
— 61A 322056 |Ball Clevis & Pin 16mm 12
61B 322386 |[Socket Termination 16mm 12
61D 322090 |Kink Pin 16mm 12
62F 144620 |Bushing Cover 22kV 6
E 75P 32289  |Bolt Hex M16 X 375 8
75R 32291 |Bolt Hex M16 X 425 12
75T 32293 |Bolt Hex M16 X 475 6
778 33771 [Bolt Tower M12 X 35 10
— 82A 40441 [Nut M16 52
828 40442 |Nut M20 8
868 65158 |Washer Els 16 26
88A 66412 |Washer Tower 12 10
F 2A 323314 |Crossarm Strap Mk14 10
119F 225772 |Surge Arrester 11kV with cap 6 (or AR)
119G 225773 |Surge Arrester 22kV with cap 6 (or AR)
G
H
i NO PART OF THIS DRAWING MAY BE REPRODUCED,
- O g o8 Maarwars 10 S A EA & AR
z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w SCALE
-3 TasNetworks 1™ 900 AMP VOLTAGE REGULATOR NTS
<|= — p—— TYPE VR-32 WITH CL-5C CONTROL
Z é DESIGNED BY ELECTRO PLATFORM MOUNTED L
L g CHECKED BY H.WESTBURY MATER‘AL L‘ST A
: APPROVED BY REVISION

DATE APPROVED | 22/FEB/19

D - OHC = G003 - SD

- 002

A

Ver. 2.0

Other Pole Mounted Plant and Attachments

Page 7-8



Overhead Distribution Construction Manual Section 7

7.3 HV Voltage Regulator Schematic, Earthing & Operational Signs

1 | 2 | 3 | L | 5
A A @ Ol/l J A
B @ o)|/ [ B
] o j
c —o | ®— C
B OI/ . A
I
A
OJ/ 8
1
| I
— B
o ¢
I
I
C
c A
.
To A |1 B
== L
5 o’éo
v »n
wv
< 5
- > | SL
& &
Se cp ce
D = =y
v n v n
o8 og
<< U << U
L [ |
o o
& &
o o
o o
w2 W
> >
E °2 °32
ok ok
D D
" n wv n
L] [
w n [V2N 2]
é = § = =
=E5 =g5
x o % x o CZL
Fl e-= SEX
<0 o <0 o
W o s
DO~ So~
o= [ =
w o= w o=
xmo xmo
L [ |
= =
2 2
| | |
G
=9 =
oo [y
252 “E2
L | R2z b
“Eo wSo
[ [Ty
L [ |
o EARTH ELECTRODE EARTH ELECTRODE
H T MAXIMUM RESISTANCE=10 OHMS MAXIMUM RESISTANCE=10 OHMS I
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» trading as TasNetworks OR TRANSMITTED BY. ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y SCALE
=) TaSN k TITLE
-2 etworks 100/200 AMP VOLTAGE REGULATOR NTS
<|a TYPE VR-32 WITH CL-5C/6C CONTROLS
< ORAWN (5 PRO-SOLUTIONS
x |2 SCHEMATIC, EARTHING & OPERATIONAL SIGNS
w = DESIGNED BY ELECTRO AA
: o (HECKED BY H.WESTBURY
< APPROVED BY O H 4 W REVISION
DATE APPROVED | 22/FEB/19 D [ G O O S D O O A

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-9



Overhead Distribution Construction Manual Section 7
7.4 200A HV Voltage Regulator Steel Work
7.4.1 H-Structure
1 | 2 | 3 | 4 5
A S — =
3 Eipatum ¥
3 HOLE i
ir e T POLE
1 | = CENTRE LINE
14 +
Be DATUM <
;i HOLE i NB.
i DEPENDING ON THE ACTUAL POLE DIAMETER AND
i CENTRES THE DATUM HOLES SHOULD BE USED AS
B | S A START POINT.
'+ +
2 DATUM T
:i HOLE 1
| | 60 x @18 HOLES\
C B <? - ? §
i¢7 + | !
3 o i DATUM
] 3 ’4@*’:* HOLE
D 1 i o
2| 1T N E i
| g
| F \z x @18 HOLES DETAIL
| SCALE 15
E i' A
|+ 12 x @1L HOLES '
N . N |
F 13 e o
I+ <
| e 1 POLE L5
i = CENTRE LINE
G B M DETAIL
P{— P SCALE 15
4 = +
NOTE
— 1. REMOVE ALL SHARP EDGES AND BURRS.
TRANSFORMER SUPPORT BEAM 2. HOT DIP GALVANIZE TO AS L680.
3. TWO BEAMS REQUIRED PER STRUCTURE.
MATERIAL: 150 PFC 5800 LONG TO AS/NZS 3679.1 - 300
SCALE: 1:30 S.I. No 32.34.02
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 O v as Toskeores g A el ST b o
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
°els TasNetworks TITE SCALE
- |2 200 AMP VOLTAGE REGULATOR XS NOKATED
< |z H-STRUCTURE STEELWORK DETAILS
P ; ORAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO
Lt g CHECKED BY H.WESTBURY A[”
: APPROVED BY REVISION
OATE APPROVED | 22/FEB/19 D - O H [ - G O O 5 - S D - O o T A
Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-10



Overhead Distribution Construction Manual Section 7

7.4.2 Control Cubicle Mounting

1 [ 2 | 3 4 5
2 x @14 HOLES 2 x HEXAGON HEAD BOLTS
ISO 4016 - M12 x 50 - 4.6
GALVANIZED - ; Tvp.
A
2 x @16 HOLES
- 230
s é/ {0l
B
30 170
75 10 FLAT
DETAIL {} X
C
38 1 x @16 HOLE

D \
75 x 10 FLAT

65

- DETAIL < E )

i
F |
S‘ 3 M12 x 50
CONTROL CUBICLE MOUNTING BRACKET BOLTS
MATERIAL: 75 x 25 x 2.5 RHS TO AS 1163-C350L0 -
— 75 AND 65 x 10 FLAT T0 AS/NZS 3679.1-300 ﬂ
FINISH : GALVANIZED A
SCALE: 155 -
S, No 32.34.60 -
N
G o
.
N
=
| 1
o
— B
- L
NOTE T
1. REMOVE ALL SHARP EDGES AND BURRS.
2. HOT DIP GALVANIZE TO AS 4680.
H | 3. STRAIGHTEN AFTER GALVANIZING. ASSEMBLY DETAIL
L. WELDING TO AS 1554,
5. BOLTS TO AS 1111.1 GRADE C. DIMENSIONS ARE IN MILLIMETRES
6. NUTS TO AS 1112.3 GRADE C. UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
n STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y SCALE
Z 12 TasNetworks TILE
— 18 200 AMP VOLTAGE REGULATOR 1.5
<|2 CONTROL CUBICLE MOUNTING BRACKET
ORAWN (5 PRO-SOLUTIONS
® = STEELWORK DETAILS
w = DESIGNED BY ELECTRO AL
= |e CHECKED BY | H.WESTBURY
< — D - OHC - G006 — SD - 001
DATE APPROVED | 22/FEB/19 A

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-11



Overhead Distribution Construction Manual Section 7
7.4.3 Mounting Bracket & Back Plate
1 [ 2 [ 3 4 [ 5
125 x 1.9 PFC 1 x @2L HOLE 75 x 12 FLAT
A \ / /
| g e/ 1o O
: o |
C ) I | ) )
| | ]
n o —
i ‘iex | c | -
h 1x @24 x 50 SLOT
E SEE DETAIL "2° 2 x @24 x 50 SLOTS
1 x @14 HOLE m
=/
F
REGULATOR MOUNTING BRACKET
- AND BACKING PLATE
MATERIAL: 125 x 11.9 PFC AS/NZS 3679.1-300
75 x 12 FLAT TO AS/NZS 3679.1-300
FINISH : GALVANISED
SCALE: 110 -
G S.I. No 32.34.61 )/ 628
1
— DETAIL { }
TYPICAL EDGE
H PREPARATION
NOTE
1. REMOVE ALL SHARP EDGES AND BURRS. DIMENSIONS ARE IN MILLIMETRES
2. HOT DIP GALVANISE TO AS 4680. UNLESS OTHERWISE STATED
T ian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 © fring s ks T s A TEAR ot T
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y SCALE
- |2 TasNetworks ™10 AMP VOLTAGE REGULATOR NTS
<|z _ MOUNTING BRACKET AND BACKING PLATE
E E DESIGNED BY ELECTRO STEELWORK DETA‘LS AL
o
: © (HECKED BY H.WESTBURY
< APPROVED BY _ _ _ _ REVISION
DATE APPROVED | 22/FEB/19 D O H [ G O O 7 S D O O W A

Ver. 2.0

Other Pole Mounted Plant and Attachments

Page 7-12



Overhead Distribution Construction Manual Section 7
7.4.4 Clamping Bar & Bracket
1 [ 2 [ 3 4 5
700
A 510

L x @22 HOLES
510

Nl

75 x 12 FLAT\

c L

REGULATOR CLAMPING BAR

MATERIAL: 75 x
FINISH : GALVANISED

SCALE: 15

S.l. No 32.34.62 (2 PER REGULATOR)

12 FLAT TO AS/NZS 3679.1-300

L x @22 HOLES

680
F 2 x HEXAGON HEAD BOLTS WITH NUTS
ISO 4016 - M20 x 60 - 4.6 GALVANISED
150 150
=
G REGULATOR CLAMPING BRACKET
MATERIAL: 75 x 12 FLAT TO AS/NZS 3679.1-300
FINISH : GALVANISED
SCALE: 15

S.. No 32.34.63 (2 PER REGULATOR)

NOTE

REMOVE ALL SHARP EDGES AND BURRS.

1.
2. HOT DIP GALVANISE TO AS 4680.
3. STRAIGHTEN AFTER GALVANISING.
H | & WELDING TO AS 1554.
5. BOLTS TO AS 1111.1 GRADE C.
6. NUTS TO AS 1112.3 GRADE C.
DIMENSIONS ARE IN MILLIMETRES
7. GENERAL TOLERANCE +/- 2mm. UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
N STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
o |y SCALE
= TILE
-2 TasNetworks 1KV AND 22kV 200 AMP VOLTAGE REGULATOR 15
<|z — e CLAMPING BAR AND BRACKET
== - STEELWORK DETAILS
w | = DESIGNED BY ELECTRO AL
— |8
. (HECKED BY H.WESTBURY
<< APPROVED BY D O H[ G O O 8 S D O O W REVISION
DATE APPROVED | 22/FEB/19 A
Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-13



Overhead Distribution Construction Manual Section 7

7.4.5 Clamping Bar & Bracket Arrangement

1 [ 2 [ 3 4 [ 5

A | REGULATOR TANK
4 x HEXAGON HEAD BOLTS i /
IS0 4016 - M20 x 260 - 4.6 ' f
GALVANIZED ! !
i i
| 22kV 200 AMP |
i i
| | L x @20 LARGE
| | SERIES WASHERS
| ! S.l. 06.51.59
i i
B | Z
L 0T | , |
”””””””””””””””””” .
! T
[ |
i i CLAMPING BAR
S / !
|
C REGULATOR
SUPPORT BEAMS L x @20 NORMAL
FIT LOCK NUTS SERIES WASHERS
S.l. 06.56.17
8 x HEXAGON NUTS
IS0 4034 - M20 - 5
1 GALVANIZED
D REGULATOR CLAMPING BAR ARRANGEMENT
22kV 200 AMP BASE SHOWN
SCALE: 110

ISO 4016 - M20 x 60 - 4.6
GALVANIZED

T REGULATOR TANK
E L x HEXAGON HEAD BOLTS //\/7

CLAMPING BRACKET

1kV 200 AMP L x @20 LARGE

SERIES WASHERS
S.l. 06.51.59

F 4 x HEXAGON HEAD BOLTS N
ISO 4016 - M20 x 260 - L.6 4'T1'Gj)"x\ U 1
GALVANIZED | CLAMPING BAR
1
FIT LOCK NUTS . -—;—'\
G REGULATOR
‘855( Eg;f?onguii SUPPORT BEAMS L x DIA 20 NORMAL
GALVANIZED SERIES WASHERS
S.l. 06.56.17
REGULATOR CLAMPING BAR AND BRACKET ARRANGEMENT
1kV 200 AMP BASE SHOWN

H|NoTE SCALE: 10

1. BOLTS TO AS 1111.1 GRADE C. DIMENSIONS ARE IN MILLIMETRES

2. NUTS TO AS 1112.3 GRADE C. UNLESS OTHERWISE STATED

© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o Frdng a5 Tockerwore T e L
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
= TITLE SCALE
-2 TasNetworks 1kV AND 22kV 200 AMP VOLTAGE REGULATOR 110
<|2 — T CLAMPING BAR AND BRACKET
x|z - STEELWORK ARRANGEMENT
w = DESIGNED BY ELECTRO A[”
: o CHECKED BY H.WESTBURY
<C APPROVED BY _ _ _ _ REVISION
DATE APPROVED | 22/FEB/19 D O H [ G O O 9 S D O O W A
Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-14



Overhead Distribution Construction Manual Section 7
7.4.6 Assembly Details — Clamping Bar & Bracket
1 | 2 | 3 | 4 5
L M20 x 260
HEXAGON BOLTS
A
4 @20 ELS WASHERS
COOPER REGULATOR
22kV 200 AMP BASE
B
REGULATOR
| SUPPORT BEAMS
CLAMPING BAR
C
& @20 NS WASHERS
D 8 x M20 NUTS/$ 2
REGULATOR CLAMPING BAR ASSEMBLY
22kV 200 AMP BASE SHOWN
SCALE: 110
4 x M20 NUTS i 4 $20 ELS WASHERS
E N, /[GOPER REGULATOR
| 11kV 200 AMP BASE
L M20 x 260
HEXAGON BOLTS
CLAMPING BRACKET
L M20 x 60 |
F HEXAGON BOLTS N
REGULATOR
. SUPPORT BEAMS CLAMPING BAR
g 4L @20 NS WASHERS
G *b /
i 8 x M20 NUTS
|
| NoTE : /
1. BOLTS TO AS 1111.1 GRADE C.
2. NUTS TO AS 1112.3 GRADE C. i
REGULATOR CLAMPING BAR AND BRACKET ASSEMBLY
H 1kV 200 AMP BASE SHOWN
REFERENCE DRAWINGS SCALE: 110
STEELWORK DETAILS D-0HC-G008-SD-001 DIMENSIONS ARE IN MILLIMETRES
STEELWORK ARRANGEMENT D-0HC-G009-SD-001 UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
% trading as TasNetworks §£°¥.§Ru"s‘m‘n’*é"§$vﬁhfﬁilﬁé Without THe
= ABN: 24 167 357 299 OF TASNETWORKS
ey TLE SCALE
-2 TasNetworks 11KV AND 22kV 200 AMP VOLTAGE REGULATOR 110
<|2 CLAMPING BAR AND BRACKET
o % ORAWN (5 PRO-SOLUTIONS ASSEMBLY DETA‘LS
w = DESIGNED BY ELECTRO AA
: © CHECKED BY (5 PRO-SOLUTIONS
<< APPROVED BY - _ _ _ _ REVISION
DATE APPROVED | 22/FEB/19 D O H [ G O T O S D O O T A

Ver. 2.0

Other Pole Mounted Plant and Attachments Page 7-15



Overhead Distribution Construction Manual Section 7

7.4.7 Assembly Details — Cubicle Mounting Bracket

1 | 2 | 3 | L 5
CUBICLE MOUNTING BRACKET
A
- (¢4
B
3 M12 x 50
HEXAGON BOLTS
C T
et 1 %
IR
1
|
REGULATOR | |
D SUPPORT BEAMS i i
1 |
| |
1 |
|
E
— 6 ©12 NS WASHERS
3 M12 HEXAGON NUTS
F
CUBICLE MOUNTING BRACKET ASSEMBLY
KV AND 22kV 200 AMP BASE SHOWN
— SCALE: 110
G
NOTE
1. BOLTS TO AS 11111 GRADE C.
2. NUTS TO AS 1112.3 GRADE C.
H
REFERENCE DRAWINGS
STEELWORK DETAILS D-OHC-G009-5D-001 DIMENSIONS ARE IN MILLIMETRES
H-STRUCTURE STEELWORK DETAILS D-OHC-G005-50-001 UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
w trading as TasNetworks OR TRANSMTTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y SCALE
- TasNetworks TTLE
—|a 1kV AND 22kV 200 AMP VOLTAGE REGULATOR 110
<|Z CUBICLE MOUNTING BRACKET
ORAWN (5 PRO-SOLUTIONS
x| = ASSEMBLY DETAILS
w = DESIGNED BY ELECTRO A[”
Lol 1= (HECKED BY H.WESTBURY
-
< L D- OHC - GO11 - SD - 001
DATE APPROVED | 22/FEB/19 A

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-16



Overhead Distribution Construction Manual Section 7
7.5 ABB Pole Mounted Capacitor Bank
7.5.1 General Arrangement
1 | 2 3 4 | 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
LINE POST ) 3
594 X 60E CURRENT SENSOR G0 )or (556D
SOURCE LOAD
A o ey
3 =
5 ;
-
2
L iE 1 i
-
S S1A
/ 63L =
5 N % ] ] ENSURE THAT
EARTHING BOLTS
ARE INSTALLED
B 1) 2 ON EDO's
N — ]
=
] M -
i
77A X_88A <
STAND OFF —}25mm’ LVABC
C = INSULATOR ;| TOW VOLTAGE SUPPLY
[ FROM ADJACENT POLE
SEE DRAWING CAPACITOR BANK S
D-OHC-G020-SD-001 LV SUPPLY 2
FOR BRACKET 8 JUNCTION BOX | _
DETAILS CONTROL CABLE
v STAINLESS STEEL _[ || 1 AERAL
2 . SToRAGE CABINET A8 Casol
= | | | TO LINE POST | il
D T CURRENT SENSOR AL
s
| ﬁ—
! 75P )X 86B
T VACCUM
SWITCHES
_
| | POSSUM GUARD
‘ EARTHING NB. | T0 BE FITTED.
E ‘ BRACKET IPC CONNECTORS REFER TO DRG
| REQUIRE DRIP L00PS | || D-OHC-G031-5D-001
-
S \l\ L |~ LV EARTH i | 1Y EARTH
~N_ | —HV EARTH 'q
— ‘ LV EARTH /LV EARTH
i | | CONTROLLER M
‘ | | 50
F | |
| 1d |
| e |
- ‘ — % GROUND LEVEL
| LV BRANCH
-——— ‘ — - - - EARTHS
i J6mm*
G | HV & LV EARTHS
IN' ACCORDANCE WITH
! DRGS D-0H1-0865-SD-001
| 0866, 0867, 0869-SD-001
‘ D-OH1-0414-SD-001
o—
— t—__ UNSURE ON
NOTES L — DRAWING REFERNCE
1. IF LINE POST CURRENT SENSOR IS CONNECTED TO PHASE C, LV SUPPLY TRANSFORMER IS TO BE
CONNECTED ON PHASES A & B.
H
APL Nos DIMENSIONS ARE IN MILLIMETRES
N/A UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
n STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
v trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 26 167 357 299 PRIOR OF TASNETWORKS
o |y SCALE
= TILE
-2 TasNetworks ABB POLE MOUNTED CAPACITOR BANK 160
< |z GENERAL ARRANGEMENT
o <Z( DRAWN (5 PRO-SOLUTIONS
w |8 DESIGNED BY ELECTRO
o
Ll 1] (HECKED BY H.WESTBURY A[”
= APPROVED BY REVISION
< - _ — _ _
DATE APPROVED | 22/FEB/19 D O H [ G O W 2 S D O O W A
Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-17



Overhead Distribution Construction Manual

Section 7

ABB Pole Mounted Capacitor Bank — Materials List

1 | 2 | 3 4
A
Unit Assembly Store Type | ltem Ref | Stock Item |Stock Item Description Quantity
S
B
— S §
t §/
D <<>/
E s | Q
F \\/
§ |
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
2 b o ore S T 1Bk Wt ot
o |w 7L - SCALE
-2 TasNetworks ABB POLE MOUNTED CAPACITOR BANK 160
<|Z GENERAL ARRANGEMENT
@ % ORAWN (5 PRO-SOLUTIONS M A TER‘AL L‘ST
w = DESIGNED BY ELECTRO AL
: o CHECKED BY H.WESTBURY
< D- OHC - G012 - SD - 001 | &
DATE APPROVED | 22/FEB/19 A
Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-18



Overhead Distribution Construction Manual Section 7
7.5.2 HV & LV Earthing Diagram
1 | 2 | 4 5
w
Be, a2
2823 SOURCE LOAD
A wEZ20S oy
ZSL<x
S2HaS
L R
1
-
B ENSURE THAT
—1 EARTHING BOLTS
ARE INSTALLED
& | 1 ON EDO’s
o
ws
— 25
wmw o
L LV SUPPLY
C
1 1
xv xz
vy < O
32 g =
xlf o =5
o T wi D:
— [ Z X S
S oY =
P2 =2
3 =0
52 L
& o
D = ==
o
— i B R
. 2w
e | &3
- == z3
<& \ Sa
52 |
ju
= |
(a4
3 |
E I
‘ =
&
! 3
| >
‘ far
£ |
z
o
5 |
= |
- I
F N ACCORDANCE WITH \
DRAWINGS D-OH1-0865-SD-001, w
0866, 0867, 0869-SD-001, ‘
D- - -SD-
CLARIFY NEW OH1-0414-SD-001 !
DRAWING REFERENCES \
I
I
EARTH ELECTRODE ‘
‘T MAXIMUM RESISTANCE=10 OHMS TJ
G NB IF THIS VALUE | EARTH ELECTRODE
CANNOT BE ACHIEVED \ MAXIMUM RESISTANCE=10 OHMS
CONTACT ASSET ENGINEERING | NB IF THIS VALUE
CANNOT BE ACHIEVED
! CONTACT ASSET ENGINEERING
H
NOTE DIMENSIONS ARE IN MILLIMETRES
1. TRUNK HV & LV EARTHS TO BE 70mm’® Cu INSULATED CONDUCTOR. UNLESS OTHERWISE STATED
© Tasmanian Networks PTY, LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
N STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
v trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
°ls TasNetworks e SCALE
—|a ABB POLE MOUNTED CAPACITOR BANK 160
< |z HV & LV EARTHING DIAGRAM
o ; ORAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO AL
[24
: © CHECKED BY H.WESTBURY
< — D- OHC - G013 - SD - 001
OATE APPROVED | 22/FEB/19 A

Ver. 2.0

Other Pole Mounted Plant and Attachments

Page 7-19



Overhead Distribution Construction Manual Section 7

7.5.3 Single Phase Supply Arrangement

1 | 2 | 3 L 5

NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.

A SOURCE — LOAD
T USE SUPPLIED INSTALL 6/20 1 [
FUSE ELEMENTS FUSE ELEMENTS
-8
200VA LV SUPPLY
B TRANSFORMER
NB. N
- ENSURE THAT MEN STRAP
IS REMOVED FROM PHASE BUSHING
AND CONNECTED TO LV EARTH.
- INSTALL KRONE KG160 SWITCH/FUSES
— 1020 WITH 250AMP BLADES FITTED TO PERMIT
ISOLATION OF LV SUPPLY 4 A
64D d
25mm*  LVABC SUPPLY
CONNECT SUPPLY
C TO al AND a3
97C GLANDS
WARNING 090
ENTS’ENL%T%FRF LV JUNCTION BOX DO NOT CONNECT| DRIP LOOPS
SWITCH FUSE INSIDE CONSUMER MAINS
- TO TRANSFORMER
HV EARTH
DETAIL ( ) /
A
D

POSSUM GUARD

LV BRANCH EARTHS TO BE FITTED.

T0 BE 16mm’ REFER TO DRG
D-0HC-G031-5D-001

POSSUM GUARD
TO BE FITTED.
REFER TO DRG
D-0H(C-G031-SD-001

LV EARTH ON

I HV EARTH
E / OPPOSITE S\DE\

N
| 10 METRES MINIMUM SEPARATION
F l
GROUND LEVEL
HV & LV EARTHS HV & LV EARTHS
IN ACCORDANCE WITH IN ACCORDANCE WITH
G DRGS D-0H1-0865, 0866, DRGS D-0H1-0865, 0866,

0867, 0869-SD-001, 0867, 0869-SD-001,
0414-SD-001

PLEASE CLARIFY NEW

NOTES DRAWING REFERENCES
H| 1. TRANSFORMER ARRANGEMENI N ACCORDANCE

WITH DRAWING_D-0H1-0815-SD-001.

2. ENSURE THAT THERE 1S™A MINIMUM SEPARATION APL Nos DIMENSIONS ARE IN MILLIMETRES
OF 2 METRES BETWEEN HV AND LV EARTHS. N/A UNLESS OTHERWISE STATED
i NO PART OF THIS DRAWING MAY BE REPRODUCED,
" © Iusé'."""'"" #e’”ﬁmfks TY' LTD. STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as fasNerworks OR TRANSMTTED BY ANY MEANS WITHOUT THE
z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°ls TasNetworks e SCALE
— 14 ABB CAPACITOR BANK NTS
< | SINGLE PHASE LV SUPPLY ARRANGEMENT
o ; DRAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO A[”
o
Ll o] CHECKED BY H.WESTBURY
- REVISION
< APPROVED BY - _ _ _ _
DATE APPROVED | 22/FEB/19 D O H [ G O W LF S D O OW A

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-20



Overhead Distribution Construction Manual Section 7

7.5.4 Wiring Layout

1 | 2 3 A 5

NOTE H1 TO FACE SUPPLY/SOURCE SIDE ONLY
PHASE C 1 SOURCE LOAD
A
LINE POST
CURRENT SENSOR
/T\
- PHASE B \ N
L > 4 J
8 HV EARTH
PHASE A \ X N
7/
- EDO1 EDO2 HH EDO3 HE
C
sD1 sD3
e =
| 1
-3 B | |
= = = Y NS |
D —oif —odf- —od- P |
= | |
LV | |
EARTH
— = = = ]
DISTRIBUTION
B E i VOLTAGE
E TRANSFORMER
SW 1 SW 2 SW 3
NN
— | Lec
\ Q (cc |
F [ [ | E_____
— JUNCTION
BOX
G
STANDOFF INSULATOR )
FOR OPERATIONAL
I EARTH CONNECTION P
CONTROLLER
LV EARTH
H CAP 1 CAP 2 CAP 3 =
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
T ian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o ot 53 Teieores B o e o
= ~ ABN: 24 167 357 299 PRIOR OF TASNETWORKS
°s TasNetworks e SCNE
— 14 ABB POLE MOUNTED CAPACITOR BANK NTS
< :(' ORAWN (5 PRO-SOLUTIONS W‘R‘NG LAYOUT
E E DESIGNED BY ELECTRO AL
Lt g CHECKED BY H.WESTBURY
:(l APPROVED BY - REVISION
DATE APPROVED | 22/FEB/19 D - O H [ - G O /‘ 5 - S D - O O /‘ A

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-21



Overhead Distribution Construction Manual Section 7
7.5.5 Schematic Diagram
1 | 2 | 3 4 5
SOURCE LINE POST
CURRENT SENSOR
A PHASE C ~ . LOAD
PHASE B N T ‘
- PHASE A _ § T j T
B | EDO1
! DISTRIBUTION
- : VOLTAGE
| TRANSFORMER
; ON ADJACENT POLE
: | oo
| = —D
- L swi L I
D N T N
E o . o
] ! i o] JUNCTION || i
; e BOX
e
— CONTROL [ABLES\
G
CONTROLLER
H ;;
LV EARTH
T ian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 © lradng a5 Teieores Tt 5 A A ot T
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y SCALE
-2 TasNetworks 1™ \gg POLE MOUNTED CAPACITOR BANK NTS
< |z SCHEMATIC DIAGRAM
o <Z( ORAWN (S PRO-SOLUTIONS
w |8 DESIGNED BY ELECTRO
L g CHECKED BY H.WESTBURY AL
: APPROVED BY REVISION
DATE APPROVED | 22/FEB/19 D - O H [ - G O W 6 - S D - O O W A
Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-22



Overhead Distribution Construction Manual Section 7
7.5.6 Secondary Circuit Schematic
1 | 2 [ A 5
A LINE POST PHASE A PHASE B PHASE C
CURRENT SW1 SW2 SW3
SENSOR
— C D C D C D C D
B
] ]
N—r1
1 ]
C D
D DISTRIBUTION
VOLTAGE
~ TRANSFORMER JUNCTION BOX
— | e ) | g\o|\o|\o|lo|o
| Choce J )i | { S+ |S-| L | N|C|TR g#ﬁg%
| Ll 52|20 |9|0 |
E
: l"vzfoy\?\‘! A | N — |
| U | NI D G O S N
— LOW VOLTAGE l | LA
EARTH = |
J 10 AMP MINIATURE CIRCUIT BREAKER
********* > DIN RAL_MOUNT. MOUNTED NSIDE
F EARTH STUD ENCLOSURE.
e Iy ) W \/
EN[LOSURE\
G % 1 21 3 4 5 6 %
- T\_CONTROLLER UNIT
LEGEND
L LINE
N NEUTRAL (COMMON GROUND)
H | cl: cLosING creculT
TR: TRIP (OPENING) CIRCUIT
S+ SENSOR CURRENT POSITIVE DIMENSIONS ARE IN MILLIMETRES
S-: SENSOR CURRENT NEGATIVE UNLESS OTHERWISE STATED
T ian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
2 Oty T I TASITED BT A A it
o |y SCALE
-2 TasNetworks 1" 285 POLE MOUNTED CAPACITOR BANK NTS
<|z - msmm SECONDARY CIRCUIT SCHEMATIC
x |Z i
w § DESIGNED BY ELECTRO
: g CHECKED BY H.WESTBURY AA
REVISION
= i D - 0HC - G017 - SD - 001 A

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-23



Overhead Distribution Construction Manual Section 7
7.5.7 Earthing Circuit Schematic
1 | 2 | 3 A 5
A
LINE POST SW A PHASE oW TANK SW B PHASE SwW C PHASE
CURRENT
SENSOR
: |
B BOLTED
| | HY EARTH CAPACITOR CAPACITOR CAPACITOR
T A PHASE B PHASE C PHASE
| ‘ PLATE
CABLE SCREEN l 77777 ‘
UNEARTHED
c THIS END CAPACITOR CAN EARTH }
|
DISTRIBUTION 7 |
VOLTAGE ‘ ‘
TRANSFORMER
D
(ADJACENT POLE) — - — —NCTION BOX/ZXONTROLLER |
— DA POD 4 i}
‘ ‘ ‘ ‘ JUNCTION BOX ‘ ‘
L] ‘ A PHASE ‘ ‘ ‘ ‘
B PHASE
‘ C_PHASE ‘ | \ TO SWITCH A ‘ |
‘ — TO SWITCH B ‘
£ | L 22y | | } TO SWITCH ¢ } |
| [ | | - N\ | |
|
‘ LOW VOLTAGE T ‘ MEN INSIDE ‘ ‘
] EARTH | ‘ ‘
ON TRANSFORMER —_ ‘
L e = ‘ ‘ ‘ |
E | | I
STAINLESS STEEL ‘ J ‘ \
STORAGE CABINET ‘ /— ‘ ‘
| | L
e ——— ————— L ‘ |
| \ \ |
G | ‘ CONTROLLER UNIT ‘ ‘
1 \ \ |
LOW \/OLT;&GE EARTH - T - J:
— ON CAPACITOR BANK HIGH VaLTGAGE
o LEGEND : — — EARTH EARTH O
NOTES . CAPACITOR BANK
1) THE LV EARTH IS NOT TO BE CONNECTED THROUGH THE CONTROLLER NEUTRAL POLE
UNIT.
H 2) STAINLESS STEEL ENCLOSURE IS TO BE CONNECTED TO LV EARTH VIA
EARTH STUD.
3) HV EARTH CONNECTION ALSO MADE TO CROSSARM, EDO FUSES AND CAPACITOR DIMENSIONS ARE IN MILLIMETRES
BANK CHASSIS. UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
© trading as TasNetworks OR TRANSHITTED Y. ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR F OF TASNETWORKS
o |y SCALE
- |2 TasNetworks |\ " 2B8 POLE MOUNTED CAPACITOR BANK NTS
<|= EARTHING CIRCUIT SCHEMATIC
x |= ORAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO
: g CHECKED BY H.WESTBURY AA
APPROVED BY REVISION
= DATE APPROVED | 22/FEB/19 D - O H [ - G O T 8 - S D - O O T A
Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-24



Overhead Distribution Construction Manual Section 7

7.5.8 Operational Earthing Layout

1 | 2 | 3 4 5

PHASE A PHASE B PHASE C HV EARTH

o} o o}
B %3 %}
.ESDW lElSDZ .ESDB
CONTROLLER
o o) o
t ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
o) o) o)
STANDOFF —_— —_— —_—
INSULATOR -_— -_— b —
D U
A
VR ’
I
) @ @
STAR-POINT
— EARTHING
STAR-POINT
EARTHING
BRACKET
E
SINGLE OPERATIONAL L
EARTH DABBING EARTH LEAD
STICK
| (FABRICATED LEAD HAS
SHOTGUN STICK CONNECTION)
EDO EARTHING
BRACKET
F N
—_— 1

\3 WAY OPERATIONAL

EARTH LEAD
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
; NO PART OF THIS DRAWING MAY BE REPRODUCED,
" © Ius;.m""m Nrem"';ks TY’ LTD. STORED N A RETREEVAL SYSTEM N ANY FORM,
rading as lasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR F OF TASNETWORKS
°ls TasNetworks TLE SCE
— 18 ABB POLE MOUNTED CAPACITOR BANK NTS
<|z OPERATIONAL EARTHING LAYOUT
x |2 ORAWN (5 PRO-SOLUTIONS
w |8 DESIGNED BY ELECTRO
o
- |o CHECKED BY H.WESTBURY AA
- REVISION
< APPROVED BY - _ _ _ _
DATE APPROVED | 22/FEB/19 D O H [ G O T 9 S D O O T A

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-25



Overhead Distribution Construction Manual Section 7
7.5.9 Steel Work Details
1 | 2 A 5
580
A
10 x @18 HOLES 2 %‘)prmi‘a CHAMFER
| S e -
| Jedbesses  eel <
A A S | S
\ ! |
25|26 | 26| 26| 26| 26| 26 26 27|21 26|25
4 x @15 HOLES 1 x @21 HOLE
C
LINE POST CURRENT SENSOR MOUNTING PLATE
MATERIAL: 180 x 580 x 12 PLATE TO AS/NZS 3678 - 250
FINISH : GALVANISED
SCALE: 1:6
BRACKETS POSITIONED
CENTRALLY ON ENCLOSURE
150
D
i
2 @18 HOLES\
[ — H
— | ot
[l 1| [
| ! |
| ! |
| ! |
[l 1| [
! | i
E | | ]
| | i
o | | i
a | ! .
3 | ! .
[l 1 [
| | .
| ! |
| ! |
[l 1 [
- | | |
| ! |
| ! |
[l 1 [
] |
[l 1 [
[l 1| [
| ! |
F [P :
L STAINLESS STEEL
D[ ENCLOSURE
| = (RITTAL OR SIMILAR)
©
[ 2 ‘;
ENCLOSURE MOUNTING BRACKET
G MATERIAL: 650 x 200 x 3 STAINLESS STEEL PLATE TO AS 1449/304/2B
FINISH : CLEAN
SCALE: 112
i
 I— IR
W | NOTE
1. REMOVE ALL SHARP EDGES AND BURRS.
2. HOT DIP GALVANISE STEEL COMPONENTS TO AS 4680. DIMENSIONS ARE IN MILLIMETRES
3. STRAIGHTEN STEEL MEMBERS AFTER GALVANIZING. UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
u trading as TasNetworks OR TRANSMTTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
e =1 TasNetworks TIILE SCALE
-2 POLE MOUNTED CAPACITOR BANK .
< |= STEELWORK DETAILS
o <z( ORAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO
-4
= (o (HECKED BY H.WESTBURY AL
-
< e D - OHC - G020 - SD - 007
DATE APPROVED | 25/FEB/19 A

Ver. 2.0

Other Pole Mounted Plant and Attachments

Page 7-26



Overhead Distribution Construction Manual Section 7

7.6 Line Fault Indicator Tracker LT30

7.6.1 Line Tracker LT30

1 | 2 3 A 5
A
STRAP TO CONNECT
B T0 POLE
SOLAR PANEL
C
D
DRILLING GROOVE
FOR CONNECTING TO POLE
E
F ACRYLIC LENS
LT30-LINE FAULT INDICATOR
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,

) STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIR PERMISSION OF TASNETWORKS
o |w
212 TasNetworks L SCALE
- |2 LINE FAULT INDICATOR ST
< |= LINE TRACKER LT30
P é( DRAWN (5 PRO-SOLUTIONS
w |2 DESIGNED BY ELECTRO Al"

o
=S CHECKED BY | HWESTBURY
o
< — D - OHC - G022 - SD - 001
DATE APPROVED | 25/FEB/19 A

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-27



Overhead Distribution Construction Manual

Section 7

7.6.2 Line Tracker LT30 Specification

1 | 2 | 3 L
A
LINE TRACKER LT30 PRODUCT SPECIFICATIONS
OVERHEAD SYSTEM 3 OR 2 WIRE, SINGLE EARTH, SWER
— LINE VOLTAGE 5- 66kV (FOR VOLTAGE > 66kV, CONTACT CHK)
LOAD SENSING CURRENT 25 AMPS - 1000A (WITH TYPICAL MOUNTING ARRANGEMENT
FAULT CURRENT SENSING 5 AMPS - 25000 AMPS FOR EARTH FAULT
25 AMPS - 25000 AMPS FOR PHASE TO PHASE FAULT
B TRIGGER PRINCIPLE 100% INCREASE OVER PRIOR LOAD "HISTORY", FAULT TYPE DETERMINED
BY POST FAULT VOLTAGE STATUS. RATIO BASED DISCRIMINATION
FOR INRUSH CURRENTS
| FAULT SENSING TIME TWO CYCLE AFTER FAULT ONSET (40MSEC @50Hz, 33.3MSEC @60Hz)
No. OF EVENTS RECORDED 15 (LAST 10 PERMANENT/TRANSIENT FAULTS AND LAST 5
SELF CLEARING FAULTS
C DETAILS STORED PER EVENT TYPE, VOLTAGE WITH TIME STAMP (VALID FOR 12 MONTHS)
MAGNETIC FIELD RATIOS
POWER SOURCE SINGLE ARRAY OF MONOCRYSTALLINE CELLS
ENERGY STORAGE 2x 2V 2.5Ah GEP CYCLON CELLS. XENON CAPACITY
— WITHOUT INPUT FROM SOLAR CELLS IS 5 FAULTS (4 HOUR RESET)
THEN CONTINUING LED INDICATION
LIGHT SOURCE SINGLE XENON FLASH TUBE. TWO HIGH INTENSITY LED'S
RED AND AMBER
D FLASH RATES XENON TUBE [PERMANENT FAULT: 1 FLASH EVERY 4 SECONDS IN SUNLIGHT
1 FLASH EVERY 8 SECONDS AT NIGHT
LED|2 OR 6 MULTIPLE FLASH/BURST/MINUTE
L] (REFER TABLE D-OHC-G025-SD-001)
VISIBILITY XENON TUBE 150M IN DAYLIGHT
1KM AT NIGHT
LED 20M WHEN VIEWED FROM UNDERNEATH
E INDICATOR RESET XENON TUBE |- VOLTAGE RETURN (PERMANENT FAULTS ONLY), TIME OR LTC30 - TIME:
4 HOURS (DEFAULT) 0,2,4 OR 8 HOURS PROGRAMMARBLE)
LED|- VOLTAGE RETURN (PERMANENT FAULTS ONLY), TIME - TIME:
1 2,4,8,12,24 HOURS, THEN 2-7 DAYS, ALL FAULTS
OPERATING TEMPERATURE RANGE CASE SURFACE TEMPERATURE: 10°CTO +80°C
AMBIENT: -10°C TO +50°C
F MATERIALS HOUSING, FOAMED LURAN S
DIMENSIONS 285(W)x203(H)x167(D) (MOUNTING BRACKET)
WEIGHT 3KG SHIPPED
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
i NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 O o os oo 1o S A & A
z w ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS —
-2 TasNetworks 1 ™| INE FAULT INDICATOR NTS
o LINE TRACKER LT30 SPECIFICATION
@ ; DRAWN (5 PRO-SOLUTIONS
w |2 DESIGNED BY ELECTRO
L g CHECKED BY H.WESTBURY AL
< D - OHC - G023 - SD - 001
DATE APPROVED | 25/FEB/19 A
Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-28



Overhead Distribution Construction Manual

Section 7

7.6.3 Remote Controller Specification

1 | 2 | 3 4
IR REMOTE CONTROLLER LTC30: SUMMARY SPECIFICATIONS/OPERATION
PLEASE REFER TO IR REMOTE CONTROLLER LTC30 USER MANUAL FOR DETAILED OPERATIONS INFORMATION
A
POWER SOURCE INTERNAL RECHARGEABLE BATTERIES
DISPLAY BACKLIT LCD 16 CHARACTER x 2 LINE
| KEYBOARD 12 BUTTON KEYPAD
BASIC FUNCTIONS CALENDER CLOCK DISPLAY
No. OF RECORDED EVENTS AVAILABLE LAST 15 FAULTS PER LT30, TOTAL STORAGE FOR 16 LT30'S
EVENT DETAILS DISPLAYED TIME, MAGNETIC FIELD RATIO, VOLTAGE STATUS
LINETRACKER DETAILS DISPLAY/REPROGRAM [UNIT IDENTIFICATION EG. POLE ID, GPS LOCATION
B LINETRACKER CONFIGURATION ACTIVATE NULLING METER FUNCTION
RESET INDICATORS, CHANGE RESET TIMES,
RESET UNIT (RE-INSTALLATION)
ACTIVATE POWER-DOWN (STORAGE MODE)
C POWER DOWN MAGNET LOCATING MARKS TEST POINT
D
16 SUPER BRIGHT LEDS
E
F
G ANTENNA AERIAL MOUNTING
SCREW
VIEW OF BASE SHOWING FITTED VOLTAGE AERIAL, COMMUNICATION PORT,
TEST POINT & LED'S (LENS REMOVED)
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v trading as TasNetworks OR TRANSHITTED B ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oy TILE SCAL
-2 TasNetworks LINE FAULT INDICATOR NTS
<|Z — = LINE TRACKER LT30
x = - REMOTE CONTROLLER SPECIFICATION
w | = DESIGNED BY ELECTRO A[”
o
: © (HECKED BY [ H.WESTBURY
< APPROVED BY _ _ _ _ REVISION
DATE APPROVED | 25/FEB/19 D O HC G 0 2 L" S D O O 1 A
Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-29



Overhead Distribution Construction Manual Section 7

7.6.4 Site Selection & Installation

1 | 2 | 3 4 5

LT30 INSTALLATION OF FAULT INDICATORS
LT30 IS THE CURRENT MODEL OF FAULT INDICATOR USED ON TASNETWORKS'S NETWORK. RPU - S4 WAS USED BEFORE THE LT30.
SITE SELECTION

LT30 LINE FAULT INDICATORS SHOULD BE MOUNTED ON THE DISTRIBUTION SYSTEM AT STRATEGIC LOCATIONS, FOR EXAMPLE, BEYOND ISOLATING SWITCHGEAR,
(EG RECLOSERS, SECTIONALISERS AND THREE PHASE GANGED FUSES) BRANCH LINES AT TEE-OFFS (AT LEAST ONE SPAN AWAY FROM THE TEE-OFF ON THE
LOAD SIDE), WHERE THE LINE ENTERS AND LEAVES INACCESSIBLE AREAS AND AS OTHERWISE REQUIRED TO OPTIMISE FAULT LOCATION AND ISOLATION.

POLE AND SYSTEM SELECTION

ALWAYS KEEP IN MIND THAT THE CONDITIONS FOR TRIGGERING AT THE LT30 MOUNTING LOCATION ARE:

“A 100% OR MORE INCREASE IN THE MAGNETIC FIELD, FOLLOWED WITHIN 1 MINUTE BY COMPLETE LOSS OF ALTERNATING ELECTRIC FIELD, I.E. ALL 50HZ
VOLTAGE". THESE REQUIREMENTS MUST BE MET.

CAN BE MOUNTED ON WOOD, STOBIE, LATTICE OR SPUN CONCRETE POLES.

WHERE THERE IS A CHOICE, SELECT THE CLEANEST POLE POSSIBLE AND DO NOT USE ON TEE-OFF POLES OR THOSE WITH CONCENTRATED SOURCES OF
MAGNETIC FIELDS SUCH AS THOSE WITH TRANSFORMERS, UNDERGROUND CABLES, MAGNETICALLY OPERATED SWITCHES ETC.

HV ONLY SINGLE CIRCUIT POLES ARE PREFERRED.

IF THERE IS LV BELOW THE HV THE LT30 CAN BE USED, BUT ONLY IF THE LV IS MOUNTED ALL IN LINE ON A HORIZONTAL CROSS ARM. IN SUCH CASES
IT IS CRITICAL THAT THE LT30 IS MOUNTED PRECISELY AT THE HORIZONTAL ELECTROMAGNETIC FIELD NULL POINT OF THE LV. IF THIS IS NOT DONE,
THE LV CURRENT, PARTICULARLY DURING EARTH FAULTS IN THE NEUTRAL, MAY CAUSE FALSE TRIGGERING OF THE LT30. REFER TO D-0H1-0338-SD-001
FOR MOUNTING LT30'S ON MIXED HV AND LV CIRCUITS. AVOID POLES WITH SERVICES, STREET LIGHTING CONDUCTORS, CABLE TELEVISION CATENARY
WIRES ETC.

AT 'TEES' MOUNT THE LT30 A SPAN AWAY FROM THE JUNCTION, ON THE LOAD SIDE, SO THE FIELDS FROM THE FAULTED SECTION WILL NOT TRIGGER THE
‘NON" FAULTED LINE LT30.

IN RURAL AREAS, POLES AT ELEVATED POSITIONS WHERE THEY CAN BE SEEN, ARE PREFERRED.

THE LT30 SHOULD BE KEPT THE FOLLOWING DISTANCES FROM NEARBY LINES WHICH REMAIN ENERGISED AFTER A FAULT:

LINE VOLTAGE SEPARATION
11kV 25m
22kV 35m
33kv 50m

FOR OTHER VOLTAGES THE DISTANCES ARE PROPORTIONAL TO VOLTAGE

MOUNTING

PRIOR TO MOUNTING, THE LT30 SHOULD BE CHECKED TO ENSURE THAT THE INTERNAL BATTERY IS STILL CHARGED. REMOVE THE LT30 FROM ITS PACKING,
REMOVE THE “POWER DOWN” MAGNET FROM THE BASE OF THE LT30. THE LT30 SHOULD IMMEDIATELY FLASH THE RED LED, FOLLOWED BY THE AMBER
LED AND FINALLY THE STROBE - THESE INDICATORS ARE ALL INSIDE THE CLEAR BEZEL.

DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED

ALTERATIONS

ORIGINAL ISSUE

: NO PART OF THIS DRAWING NAY BE REPRODUCED,
© Tasmanian Networks PTY. LTD. STORED N A RETRIEVAL SYSTEM IN ANY FORM,

trading as TasNetworks R TRANSMITTED BY ANY MEANS WITHOUT THE
ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS

SCALE
"“LINE FAULT INDICATOR NTS
LINE TRACKER LT30 SITE SELECTION
DRAWN (5 PRO-SOLUTIONS AND ‘NSTALLAT‘ON

DESIGNED BY ELECTRO A A

CHECKED BY H.WESTBURY

e D- OHC - G025 - SD - 001 | A

DATE APPROVED | 25/FEB/19

TasNetworks n

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-30



Overhead Distribution Construction Manual Section 7

Site Selection & Installation

1 | 2 3 4 5

MOUNTING

REPLACE THE “"POWER DOWN" MAGNET UNTIL READY TO MOUNT THE UNIT ON THE POLE. IF THE LED'S AND THE STROBE DO NOT FLASH, THIS INDICATES THAT

A THE BATTERY REQUIRES RECHARGING. IN THIS CASE, REPLACE THE “POWER DOWN" MAGNET, THEN PLACE THE LT30 IN A SUNNY POSITION FOR AT LEAST 8
HOURS TO RESTORE CHARGE TO THE INTERNAL BATTERY (33 HOURS OF DIRECT SUNLIGHT IS REQUIRED FOR FULL CHARGE).
THE LT30 SHOULD BE MOUNTED BETWEEN 1.2 AND 3.5 METRES BELOW THE LOWEST HV CONDUCTOR, ON THE SUNNIEST SIDE OF THE POLE, WITH THE SOLAR
PANEL POINTING IN THE SAME DIRECTION AS THE HV CONDUCTORS DIRECTLY ABOVE. BEST SENSITIVITY IS GAINED BY KEEPING TO THE LOWER SPACING OF 1.2M
—]  (BUT TAKING CARE TO MAINTAIN SAFE WORKING LIMITS WHEN MOUNTING THE LT30).
NOTES
() THE LT30 STATUS INDICATORS (AMBER LED'S INSIDE CLEAR BEZEL) SHOW LINE STATUS. IF THE LT30 IS SENSING BOTH MAGNETIC AND ELECTRIC FIELDS,
B THEN THE LT30 WILL EMIT ONE FLASH EVERY 30 SECONDS. IF THE STATUS LED FLASHES TWICE OR THREE TIMES EVERY 30 SECONDS, THEN CHECK CONDITIONS
AS SHOWN BELOW.
STATUS LED (AMBER LED)
BURST TYPE LINE CONDITION NOTES
1FLASH EVERY 30 SECONDS VOLTAGE AND CURRENT SENSED __|LINE NORMAL
C 2 FLASHES EVERY 30 SECONDS |VOLTAGE ONLY SENSED LT30 CANNOT SENSE ANY LINE
CURRENT. IF LINE CURRENT > 25 AMPS,
MOVE LT30 CLOSER TO CONDUCTORS
3 FLASHES EVERY 30 SECONDS |VOLTAGE NOT SENSED LT30 CANNOT SENSE ANY ELECTRIC
FIELD. IF LINE IS ENERGISED, MOVE
| MOVE LT30 CLOSER TO CONDUCTORS
(I) THE SOLAR PANEL WILL CHARGE THE BATTERY EVEN IF THE LT30 IS NOT IN DIRECT SUNLIGHT. IF FACTORS OTHER THAN SOLAR GAIN ARE MORE IMPORTANT,
D SUCH AS VISIBILITY FROM ONE DIRECTION, THEN MOUNT ACCORDINGLY, BUT STILL ENSURE THAT THE SOLAR PANEL POINTS IN THE SAME DIRECTION AS THE HV
CONDUCTORS.
(1) THE 1.2-3.5 METRE MOUNTING POSITION IS NOT CRITICAL SINCE TRIGGERING IS BASED ON A RATIO INCREASE OF FAULT TO LOAD CURRENT, BUT THIS RANGE
GENERALLY PROVIDES THE GREATEST SENSITIVITY AND BALANCE. SEE (I) ABOVE FOR USE OF STATUS LED FOR MOUNTING HINTS.
— FOR DUAL CIRCUIT LOCATIONS (E.G. HV WITH LV OR OTHER CONDUCTORS BENEATH), THE LT30 SHOULD BE PLACED IN THE NULL POINT IN LINE WITH THE
LOW VOLTAGE CIRCUIT. TO CARRY OUT THE SELF NULLING PROCEDURE SEE D-0H1-336-SD-001.
MOUNT THE LT30 ON THE POLE USING METAL OR PLASTIC STRAPS OR BY DRILLING AND SCREWING THROUGH THE MOUNTING PLATES. A GROOVE IS
PROVIDED TO LOCATE THE DRILL BIT. ALTERNATIVELY FIT A COACH SCREW WITH A LARGE WASHER THROUGH THE STRAP SLOT. REFER DIAGRAM 1.
E REMOVE THE “"POWER DOWN MAGNET”. THE LT30 IS DISABLED UNTIL THE MAGNET IS REMOVED. THE MAGNET SHOULD BE KEPT FOR FUTURE STATUS
TESTING OR TO SWITCH OFF THE LT30 DURING TRANSFER ETC.
POSITION FOR
/MOUNT\NGSTRAP
F
RILL BIT LOCATING
‘GROOVE FOR SCREW
MOUNTING
G -
DIAGRAM 1 etk
MOUNTING ON HV/LV POLES
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v trading as TasNetworks SR TRANSHITTED 31 ANY HEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
2 TasNetworks TILE SCLE
) etwor LINE FAULT INDICATOR NTS
<|2 LINE TRACKER LT30 SITE SELECTION
DRAWN (5 PRO-SOLUTIONS
= |2 AND INSTALLATION
w = DESIGNED BY ELECTRO AL
o
Ll CHECKED BY H.WESTBURY
- APPROVED REVISION
<t BY - _ _ _ _
DATE APPROVED | 26/FEB/19 D O H [ G 0 2 5 S D 0 O 2 A

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-31



Overhead Distribution Construction Manual Section 7

Site Selection & Installation

1 | 2 3 A 5

MOUNTING ON HV/LV POLES - NULLING

FOR POLES WITH LV OR OTHER CONDUCTOR (EARTH WIRE, CATENARY ETC) MOUNTED HORIZONTALLY BELOW THE HV, THE HORIZONTAL COMPONENT OF THE

A MAGNETIC FIELD DUE TO THE LV IN THE PLANE OF THE LV CONDUCTORS IS ZERO AND THEREFORE WILL NOT BE SENSED BY THE LT30 COIL AT THIS POINT. THIS
IS THE POSITION THAT THE LT30 SHOULD BE MOUNTED - REFER ALSO TO NULLING METER' AND ‘LTC30 REMOTE CONTROLLER' BELOW. TO ALLOW PREFERENTIAL
SENSITIVITY TO PHASE TO PHASE FAULTS BETWEEN THE OUTER HV CONDUCTORS, IT IS RECOMMENDED THAT THE LT30 BE MOVED HORIZONTALLY AWAY FROM
THE POLE CENTERLINE BY ABOUT 80 MM - SEE DIAGRAM 2.

| ATTENTION
IN ADDITION TO MOUNTING THE LT30 AT THE NULL POINT, IT IS ALSO IMPORTANT THAT THE LT30 IS PROGRAMMED TO HAVE THE MIXED HV/LV CONFIGURATION
TURNED ON - REFER TQ SECTION S IF THIS IS NOT DONE, THE LT30 MAY BE FALSELY TR ED
B THERE ARE TWO METHODS OF DETERMINING THIS NULL POINT OF THE HORIZONTAL COMPONENT OF THE MAGNETIC FIELD
USE THE CHK RPU3-DN NULLING METER, OR
USE THE LTC30 HANDHELD REMOTE CONTROLLER
| RPU3-DN (OR OTHER) NULLING METER
THE NULLING METER IS MOVED UP AND DOWN THE POLE NEAR THE PLANE OF THE LV. THE CORRECT MOUNTING POSITION OF THE LT30 IS THE LOCATION WHERE
THE NULLING METER SHOWS A MINIMUM.

C LTC30 REMOTE CONTROLLER
TURN ON THE NULL FUNCTION ON THE LTC30. POINT THE LTC30 TOWARDS THE BASE OF THE LINETRACKER, WAIT FOR THE CONTROLLER TO ESTABLISH THE LINK
WITH THE LT30. ON THE LCD SCREEN, OBSERVE THE READOUT DISPLAYING THE HORIZONTAL MAGNETIC FIELD STRENGTH AS SEEN BY THE LINETRACKER. THIS
NUMBER WILL RANGE BETWEEN 2 AND 262,000. NOW MOVE THE LT30 UP OR DOWN, WHILE OBSERVING THE SCREEN READOUT. THE CORRECT MOUNTING POSITION

— OF THE LT30 IS THE LOCATION WHERE THE SCREEN READOUT SHOWS A MINIMUM.
NOTE
SOME HAVE EXPERIENCED A “FALSE NULL" WELL BELOW OR ABOVE THE LV CONDUCTORS. IF THIS OCCURS THE LT30 MUST BE MOUNTED AT THE POINT WHICH
D APPROXIMATELY ALIGNS THE TOP OF THE DECORATIVE TRIANGLE ON THE SIDE OF THE LT30 IN LINE WITH THE LV CONDUCTORS. REFER DIAGRAM. 2
E
HV/LV - Nullina the LV field
HV
A E .
T T I [~ pole
F LT30 mounted at
vertical null point and mounting
about 80mm off pole Horizontal field (hOIeI te Mini cading
centreline % from LV is zero emplaten ;I“;;;"::g'-‘l)rwo‘r“&
LTC30 Controller
I ".” ~. ’"\"»,\\‘ determine null
/ \
LV o et
(load _T_ T Al T /T
current) N [Rgsia
G
DIAGRAM 2
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,

0 fradg s Tosktworks SRR A L il AT T

=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS

°ls TasNetworks e SCALE

A LINE FAULT INDICATOR NTS

<|Z — T LINE TRACKER LT30 SITE SELECTION

x|= - AND INSTALLATION

w = DESIGNED BY ELECTRO A["

i CHECKED BY H.WESTBURY

2 APPROVED BY REVISION

< - o -— - —

) R D - OHC - G025 - SD - 003 A

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-32



Overhead Distribution Construction Manual Section 7
7.7 Surge Diverter Crossarm Installation
1 | 2 | 3 | 4 5

HV TRANSFORMER LEAD
(16mm* INSULATED
CU CONDUCTOR)

BUSHING COVER
COPPER LUGS
A S.l. No 11.,12.99\

HV LINE LEAD
(16mm*INSULATED

CU CONDUCTOR)

TERMINATION BAR
S.l. No 30.35.67

SURGE DIVERTERS

B RAYCHEM 22kV S.I. No 22.57.15
RAYCHEM 11kV S.I. No 22.57.10

OR

ABB 22kV S.I. No 22.57.72

ABB 11kV S.I. No 22.57.73

PLATE S.I. No 32.33.54

MARK & CROSSARM

CONNECTION DETAILS

D MAIN EARTH WIRE

50mm* 0.6/1kV Cu PVC CONDUCTOR FOR TRANSFORMER INSTALLATION
70mm* 0.6/1kV Cu PVC CONDUCTOR FOR RECLOSER OR LOAD BREAK
SWITCH INSTALLATION

REFER CONNECTION DETAIL

ALTERNATIVE CONNECTIONS

CLIP SUPPLIED WITH
SURGE DIVERTER

EARTH CONNECTION TO BE MADE AT THIS POINT,
F NOT AT POLE, USING COPPER LUG
S.l. No 14.13.61

CONDUCTOR CLAMP
S.l. No 14.68.56

GENERAL ARRANGEMENT

INSTALLATION

- SURGE DIVERTER TO BE MOUNTED DIRECTLY ONTO CROSSARM AS SHOWN.

- ENSURE THAT CROSSARM IS EARTHED AND HAS A MINIMUM EARTH RESISTANCE OF -:
30 OHMS FOR A TRANSFORMER INSTALLATION.
10 OHMS FOR A RECLOSER INSTALLATION.

REPLACEMENT
- WHEN A SURGE DIVERTER OPERATES/FAILS -:
1) IN THE CASE OF A TRANSFORMER INSTALLATION THE HV FUSE SHOULD BLOW.
2) IN THE CASE OF A RECLOSER INSTALLATION THERE SHOULD BE AN EARTH FAULT, WHICH WILL TRIP THE FEEDER.
H - ENSURE THAT HV SUPPLY IS DISCONNECTED AND NORMAL SAFETY PROCEDURES FOLLOWED BEFORE REPLACING SURGE
DIVERTERS.

DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED

© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» trading as TasNetworks OR TRANSHITTED B ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
adl TILE SCALE
-2 TasNetworks SURGE DIVERTER e
< |z CROSSARM INSTALLATION
o <Z( DRAWN (5 PRO-SOLUTIONS
w |8 DESIGNED BY ELECTRO
o
: o CHECKED BY H.WESTBURY Al"
o< APPROVED BY | - _ _ _ _ REVISION
DATE APPROVED | 26/FEB/19 D O H [ G O 2 6 S D 0 O 1 A
Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-33



Overhead Distribution Construction Manual Section 7
7.8 HV Metering Unit
7.8.1 Separate HV & LV Earths
1 | 2 | 3 | 4 | 5
NB Ensure that Lock Nuts are installed on all bolts passing through pole.
55
=
A INCOMING OUTGOING
300
] SEE NOTE 1.
B
C
86B
| METERING UNIT
PLEASE CLARIFY REFERENCE
D POSSUM GUARD
TO BE FITTED.
REFER TO DRG
D-0HC-G031-SD-001
L] ON D-0HC-G027-5D-003
E
o %) (%]
S & &
=
F _ NZEN\VANANANVANVANVANY I\ NVENVEN VAN /AN VAN /aN /AN VN4
? NG
| HV & LV EARTHS
IN ACCORDANCE WITH
SECTION 12.4
G 4000 MIN.
NOTES
1. DOUBLE PARALLEL GROOVE CLAMPS
REQUIRED TO ALL CONNECTIONS 1 1
H ONTO TENSIONED CONDUCTORS.
SEPERATE PARALLEL GROOVE CLAMPS
BY 300mm, LESS SEPERATION APL Nos: MET/11/3, DIMENSIONS ARE IN MILLIMETRES
ACCEPTABLE IF 300mm NOT POSSIBLE. MET/22/3 UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w trading as TasNetworks OR TRANSHITTED Y. ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
o |w T SCALE
-3 TasNetworks POLE MOUNTED HV METERING UNIT NTS
<|= 1kV OR 22kV WITH SEARATE HV & LV EARTHS
o é ORAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO
: g CHECKED BY H.WESTBURY AA
< APPROVED BY | - _ _ _ _ REVISION
DATE APPROVED | 26/FEB/19 D O H [ G O 2 7 S D O O W A
Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-34



Overhead Distribution Construction Manual Section 7

HV Metering Unit — Separate Earths - Materials List

1 | 2 | 3 | 4 5
A Unit Assembly Store Type | ltem Ref | Stock Iltem [Stock ltem Description Quantity
MET/11/3 S 75N 32288 Bolt Hex M16 360 6
75P 32289  |Bolt Hex M16 375 1
. 75T 32283  [Bolt Hex M16 475 1
752 32261 |Bolt Hex M16 45 4
82A 40441 Nut M16 4
86B 65158 Washer ELS 16 7
B 88B 66413 |Washer Tower 16 4
62E 144617 |Bushing Cover 11kV 6
37 152723 |Conduit Rigid 20mm 2
13J 154542 |Saddle 20mm 9
— 60E 320531 [Insulator PIB 22/450 6
60G 321260 |Insulator Disc 6
61A 322056 _|Ball Clevis & Pin 6
61D 322090 |Kink Pin 6
C 61B 322386 |Socket Termination 6
59A 322721 |Pin Insulator 22kV 6
1A 323210 |Crossarm MK1 Wood at No1 Store 1
1D 323304 |Crossarm MK4 1
| 1E 322305 [Crossarm MK5 2
3 323310 [Strain Plate MK10 2
2A 323314 |Crossarm Strap MK15 8
D 20 323363 [Transposition Bracket 1
MET/22/3 S 75M 32287 Bolt Hex M16 325 4
75N 32288  [Bolt Hex M16 350 2
75P 32289  |Bolt Hex M16 375 2
L 75T 32293 [Bolt Hex M16 475 1
752 32261 |Bolt Hex M16 45 4
82A 40441 Nut M16 4
86B 65158 Washer ELS 16 6
E 888 66413 |Washer Tower 16 6
62F 144620 |Bushing Cover 22kV 6
37 152723 |Conduit Rigid 20mm 4
60E 320531 [Insulator Pin 22/450 6
| 60G 321260 |Insulator Disc 12
61A 322056 |Ball Clevis & Pin 6
61D 322090 |Kink Pin 6
F 61B 322386 |Socket Termination 6
59A 322721 |Pin Insulator 22kV 6
1A 323210 |Crossarm MK1 Wood at No1 Store 1
1D 323304 |Crossarm MK4 1
— 1E 322305 [Crossarm MK5 2
3 323310 [Strain Plate MK10 2
2A 323314 |Crossarm Strap MK14 8
20 323363 [Transposition Bracket 1
G 23B 323366 [Conduit Clip MK66 15
H
i NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 O g os Namarware |1 Hh BAES B AT
z w ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS -
-2 TasNetworks 1™ b0 £ MOUNTED HV METERING UNIT NTS
<|Z — T 1MkV OR 22kV WITH SEPARATE HV & LV EARTHS
== MATERIAL LIST
w (8 DESIGNED BY [ ELECTRO A[%
e CHECKED BY H.WESTBURY
< —F D- OHC - G027 - SD - 002 | o
DATE APPROVED | 26/FEB/19 A

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-35



Overhead Distribution Construction Manual Section 7
7.8.2 Operating Procedure & Notes
1 | 2 | 3 L 5
1
a b C n
: : : SECONDARY WIRING
A % TO METERING CABINET
B VOLTAGE ¢ ¢ ¢
TRANSFORMER _ ~ _
¢ CURRENT CUSTOMER
CUSTOMER TRANSFORMER INSTALLATION
INSTALLATION
AS1 AS2 AS3 ASL
— F1 F1 F1
TASNETWORKS AP, AP,
D| INCOMING JI_ . | | | . QUTGOING
B, | (
HV T ¢ ? HV MAINS
P o Ay P
|| CONNECTION —H - ‘ | ‘ | ‘ | ‘ ° CONNECTIONS
CUSTOMER'S HV
L— PROTECTION DEVICE (51 (52 (s3 (sk
E CURRENT
TRANSFORMER
— WIRING DIAGRAM
NOTES
1. CUSTOMER MUST INSTALL AN HV PROTECTION DEVICE TO PROTECT TASNETWORKS METERING UNIT AND CUSTOMER'S INSTALLATION. DEVICE MUST BE
F GANG-OPERATED, FAULT MAKE/BREAK CAPABILITY, eg POLE MOUNTED RECLOSER.
2. MAXIMUM RESISTANCE OF EARTH CONNECTION TO BE 30 OHMS.
3. ADDITIONAL ELECTRODES WHEN REQUIRED TO BE INSTALLED ALONG THE POLE LINE AT A DISTANCE APART EQUAL TO THE ELECTRODE DEPTH.
— 4. HV EARTH CONDUCTOR TO BE 50mm* 0.6/1kV Cu PVC FIXED TO POLE ON OPPOSITE SIDE TO METERING WIRING.
5. MINIMUM POLE STRENGTH TO BE 6kN.
6. METERING SECONDARY WIRING TO BE SLEEVED WITH PVC TUBE AND SEALED TO PROVIDE PROTECTION AND WEATHER PROOFING.
G 7. POLE SUPPORTING METERING UNIT MAY BE INSTALLED WITH NORMAL EARTH BACKFILL.
OPERATING PROCEDURE
1. ISOLATION OF METERING UNIT FOR REPLACEMENT OF HV METERING FUSES. (F1)
(a) REQUEST CUSTOMER TO OPEN HV OR LV CIRCUIT BREAKER AT MAIN SWITCHBOARD.
| (b) OPEN CUSTOMER HV PROTECTION DEVICE OR HV FUSES ON INCOMING LINE.
(c) PROVE DEAD AND EARTH INCOMING LINE.
(d) REPLACE ALL THREE VT FUSES, (F1).
2. RESTORATION OF SUPPLY.
H (a) REMOVE EARTHS APPLIED IN ITEM (c) ABOVE.
(b) CLOSE CUSTOMER HV PROTECTION DEVICE OR HV FUSES ON INCOMING HV LINE.
(c) REQUEST CUSTOMER TO CLOSE HV OR LV CIRCUIT BREAKER AT MAIN SWITCHBOARD.
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
@ ©fruding as TasNetworks OR TRANSHITTED B ANY: HEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o (w Lt SCALE
-2 TasNetworks WIRING DIAGRAM - OPERATING PROCEDURE NTS
<| AND NOTES FOR METERING UNIT
o ; ORAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO
: g (HECKED BY H.WESTBURY A[”
< APPROVED BY _ _ _ _ REVISION
DATE APPROVED | 26/FEB/19 D OH[ 6027 S D OOB A
Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-36



Overhead Distribution Construction Manual

Section 7

7.9 ABB Metering Unit with HV Earth Only

7.9.1 Details

1 | 2 | 3 | 4 | 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
LOOP CENTRE PHASE ONLY
60G X 61A )X 618 X 61D 1
s
A =
b INCOMING OUTGOING
53
<
— S 20
54
594 X 60E
-
B 2
51
S
2
< 55
C
CORCE
- or (90 METERING UNIT
UTILISE EXISTING MOUNTING
BRACKETS WHERE POSSIBLE
S
] >
D o
5
-
=]
3
REFER TO NOTE 6 7 I
- ON D-OHC-G027-5D-003 ﬁ
METERING CABINET
E HV EARTH
CABINET EARTH /
=3 w
o o
S &
| INSTALL 3 EARTH PINS AT 120 DEGREE = S
SPACINGS AROUND POLE &
ZEACH PIN TO BE MIN 1800 mm LONG ] |
- TWO CONNECTIONS TO GRADING RING
REQUIRED
F - Ei N/ NN NN N NN NN NN NN NN
3 \
_____ _\( \ \/‘__________4'
D 70mm’ Cu CONDUCTOR (BARE)
50mm* Cu GRADING RING 1500
RADIUS ABOUT CENTRE LINE
OF POLE
G REFER TO SECTION 12 NB.
IF ADDITIONAL EARTH PINS
NOTES ARE REQUIRED TO OBTAIN
1. EARTH CONNECTION FROM METER BOX THE 10 OHM READING THEN
T0 BE CONNECTED TO GRADING RING. THESE CAN BE INSTALLED AS SHOWN.
2. ABS, METERING UNIT TANK AND HV CABLE SCREEN PIN SPACING TO BE EQUIVALENT TO
— " (F PRESENT) TO BE CONNECTED TO GRADING RING. SUNK LENGTH OF PINS.
3. BARE 70mm Cu TO BE USED FOR ALL CONNECTIONS
4. NO LV EARTH IS INCLUDED IN THIS DRAWING.
5. EARTH RESISTANCE TO BE MAXIMUM OF 10 OHMS
6. GRADING WIRE TO BE INSTALLED MIN 250 MM
BELOW FINISHED SURFACE.
H | 7. DOUBLE PARALLEL GROOVE CLAMPS REQUIRED TO ALL CONNECTIONS
ONTO TENSIONED CONDUCTORS.
SEPERATE PARALLEL GROOVE CLAMPS BY 300mm, LESS SEPERATION APL Nos: MET/11/3, DIMENSIONS ARE IN MILLIMETRES
ACCEPTABLE IF 300mm NOT POSSIBLE. MET/22/3 UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
N STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
u trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
o |w
R TasNetworks e SCALE
— |4 ABB HV METERING UNIT NTS
<|Z 1kV OR 22kV
ORAWN (5 PRO-SOLUTIONS
« |2 WITH HV EARTH ONLY
w = DESIGNED BY ELECTRO A[”
Ll (= CHECKED BY H.WESTBURY
< Ry D - OHC - G028 —= SD - 007
DATE APPROVED | 26/FEB/19 A

Ver. 2.0 Other Pole Mounted Plan

t and Attachments Page 7-37



Overhead Distribution Construction Manual Section 7

7.9.2 Operating Procedure & Notes

1 | 2 | 3 4 | 5
1
a, b C
: : SECONDARY WIRING
A TO METERING CABINET
B VOLTAGE ¢ ¢
TRANSFORMER - ~
C
CUSTOMER CURRENT CUSTOMER
TRANSFORMER INSTALLATION
INSTALLATION
AS1 AS2 AS3  ASL
— F1 F1
TASNETWORKS | | || AP,
D[ INCOMING E A AAAAT OUTGOING
HV - b, - > HV MAINS
Cp, P
> A~~~ P
L | connECTION —H & | | | e CONNECTIONS
CUSTOMER'S HV
L— PROTECTION DEVICE 1052 (53 CSh
E CURRENT
TRANSFORMER
NOTES
1. CUSTOMER MUST INSTALL AN HV PROTECTION DEVICE TO PROTECT TASNETWORKS METERING UNIT AND CUSTOMER'S INSTALLATION. DEVICE MUST BE
F GANG-OPERATED, FAULT MAKE/BREAK CAPABILITY, eg POLE MOUNTED RECLOSER.
2. MAXIMUM RESISTANCE OF EARTH CONNECTION TO BE 30 OHMS.
3. ADDITIONAL ELECTRODES WHEN REQUIRED TO BE INSTALLED ALONG THE POLE LINE AT A DISTANCE APART EQUAL TO THE ELECTRODE DEPTH.
—l 4. HV EARTH CONDUCTOR TO BE 50mm* 0.6/1kV Cu PVC FIXED TO POLE ON OPPOSITE SIDE TO METERING WIRING.
5. MINIMUM POLE STRENGTH TO BE 6kN.
6. METERING SECONDARY WIRING TO BE SLEEVED WITH PVC TUBE AND SEALED TO PROVIDE PROTECTION AND WEATHER PROOFING.
G 7. POLE SUPPORTING METERING UNIT MAY BE INSTALLED WITH NORMAL EARTH BACKFILL.
OPERATING PROCEDURE
1. ISOLATION OF METERING UNIT FOR REPLACEMENT OF HV METERING FUSES. (F1)
(a) REQUEST CUSTOMER TO OPEN HV OR LV CIRCUIT BREAKER AT MAIN SWITCHBOARD.
(b) OPEN CUSTOMER HV PROTECTION DEVICE OR HV FUSES ON INCOMING LINE.
(c) PROVE DEAD AND EARTH INCOMING LINE.
(d) REPLACE ALL THREE VT FUSES, (F1).
2. RESTORATION OF SUPPLY.
H (a) REMOVE EARTHS APPLIED IN ITEM (c) ABQOVE.
(b) CLOSE CUSTOMER HV PROTECTION DEVICE OR HV FUSES QN INCOMING HV LINE.
(c) REQUEST CUSTOMER TO CLOSE HV OR LV CIRCUIT BREAKER AT MAIN SWITCHBOARD.
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
v trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
= TasNetworks TLE SCALE
-2 WIRING DIAGRAM - OPERATING PROCEDURE NTS
<|Z AND NOTES FOR ABB METERING UNIT
ORAWN (S PRO-SOLUTIONS
e WITH HV EARTH ONLY
w = DESIGNED BY ELECTRO AL
Ll (= (HECKED BY H.WESTBURY
< |- D - OHC - G028 - SD - 002
DATE APPROVED | 26/FEB/19 A

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-38



Overhead Distribution Construction Manual Section 7
7.10 General Positioning of Attachments at Pole Base
1 | 2 | 3 | A 5

A
POSSUM GUARD
REFER NOTE 6
— DRG D-OHC-G029-SD-002
PRIVATE SIGN
REFER NOTE 9
DRG D-OHC-G029-5D-002
B
CONTROL STATION
NUMBER PLATE
1 o POLE NUMBER
S [T~ REFER NOTE 10
o DRG D-OHC-G029-SD-002
o]
[sa]
S
C - CABLE IDENTIFICATION
S
o
S = Lfmf POLE INSPECTION MARKER
= ! =3 — O—~—]|
§ = & g{ | INDENTIFICATION DISC
1 = 3 = 2 W0O0D POLE ONLY
o &
= =
" g
D
1 GROUND LEVEL
m—y gy oy ey | T T T T T T 11—
N — — —] | ] — — — -
L= =] =
E
< J
NOTES
F 1. INDEMNITY FORM TO BE SIGNED BY OWNER. REFER TO NETWORK PROCEDURE

NP-R-AM-22 - PRIVATE ATTACHMENTS TO TASNETWORKS POLES AND STRUCTURES.
2. SIGN LIMITATIONS
MAXIMUM LENGTH - 900mm
MAXIMUM HEIGHT - 500mm
MAXIMUM AREA - 0.2m
. SIGNS SHALL NOT BE ERECTED ON ANY POLE FITTED WITH
(a) POLE STEPS FOR CLIMBING
(b) TRANSFORMER
() HV OR LV FUSES, LINKS OR ISOLATORS
4. SIGNS SHALL BE FIXED SECURELY TO THE POLE SURFACE. WQOD POLE IS NOT
G TO BE SCARFED MAXIMUM NUMBER OF SIGNS PER POLE IS TWO.
5. WHERE SIGNS ARE FIXED TO TUBULAR STEEL POSTS A STAINLESS STEEL
BANDING SYSTEM IS TO BE USED
6. WHEN FIXING SIGNS TO STEEL/CONCRETE POLES USE SELLEYS ‘LIQUID NAILS'
ADHESIVE ENSURE BOTH SURFACES ARE CLEAN AND DRY. APPLY ADHESIVE TO
BOTH SURFACES, PRESS SIGN ONTO POLE AND ALIGN, HOLD IN PLACE FOR
ONE MINUTE.

H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM N ANY FORM,
v trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
o |w
> TasNetworks T SCALE
-2 ATTACHMENTS TO WOOD & NTS
<|z —_ — STEEL/CONCRETE POLES
0- S0l ]
x|=Z GENERAL ARRANGEMENT
w (B DESIGNED BY | ELECTRD AL
-4
= (e CHECKED BY | HWESTBURY
- APPROVED BY REVISION
< - — — — —
DATE APPROVED | 26/FEB/19 D OHC G029 SO 001 A

Ver. 2.0 Other Pole Mounted Plant and Attachments

Page 7-39



Overhead Distribution Construction Manual Section 7
General Arrangements Attachments at Pole Base
1 [ 2 [ 3 [ L 5
NOTES
1. WOOD POLE INDENTIFICATION DISC IS INSTALLED AT POLE TREATMENT PLANT.
A
2. POLE NUMBERS AND CONTROL STATION NUMBERS PLATES ARE TO BE FIXED ON THE ROAD SIDE FACE OF POLES.
3. WEATHERSEAL NEOPRENE WASHERS PROVIDED TO ENABLE THE EASY CHANGEOVER OF CONTROL STATION NUMBER PLATES AT POLE RENEWAL.
THE CLOUT TACKS ARE TO BE DRIVEN NO FURTHER IN THAN FLUSH WITH THE TOP OF THE NEOPRENE WASHERS.
4. TO AVOID DAMAGE TO THE SIGN ON WOOD POLES WITH EXTREME CURVATURE A NEOPRENE WASHER MAY BE LOCATED UNDER THE SIGN AS WELL AS ON TOP
OF THE SIGN WITH EACH CLOUT TACK FASTENING.
5. WHEN FIXING THE SIGNS OR NUMBERS TO S/C POLES WITH ADHESIVE, BOTH SURFACES MUST BE CLEAN AND DRY. APPLY ADHESIVE TO BACK OF SIGN.
B PRESS SIGN ONTO POLE AND ALIGN SIGN. HOLD IN PLACE FOR ONE MINUTE.
6. THE POSSUM GUARD LOCATION MAY BE RAISED TO PROVIDE 1000mm CLEARANCE FROM ANY FENCE OR STRUCTURE OR HEDGE.
7. FOR THE FITTING OF POSSUM GUARDS TO STAYWIRES - SEE STAY DRAWINGS.
| 8. CABLE ID TAG TO BE INSTALLED WHEN CABLE IDENTIFICATION REQUIRED. TAG TO SHOW THE SOURCE OF THE CABLE.
9. REFER TO DRAWING D-OHC-G030-SD-001 FOR DETAIL OF PRIVATE SIGNS AND D-OHC-G032-SD-001 & 002 FOR BANNERS.
C 10. THE PREFIX LETTER ‘P’ FOR PRIVATE AND 'S’ FOR SURCHARGE OR STANDBY CHARGE TO BE INSTALLED WHEN REQUIRED.
11. “PRIVATE POLE” TAG TO BE FITTED TO ALL PRIVATE POLES - YELLOW PAINTED TAG S.l. No. 32.33.93
12. THE CURRENT RATING VALUE OF HV SPUR LINE AND LINE FUSES SHOULD BE DISPLAYED 2000mm BELOW THE DO FUSE FITTING.
| 13. REFER TO NETWORK DIVISION PROCEDURE NP-R-AM-22 FOR PRIVATE ATTACHMENTS TO POLES
D
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» trading as TasNetworks e AN e ANY FEAtS WITROUT e
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o|y TITLE SCALE
-2 TasNetworks ATTACHMENTS NTS
<|Z TO WOOD & STEEL/CONCRETE POLES
B DRAWN (5 PRO-SOLUTIONS GENERAL ARRANGEMENT
w ‘QE( DESIGNED BY ELECTRO A[”
Lol 1= (HECKED BY H.WESTBURY
< AL D - OHC - G029 - SD - 00
DATE APPROVED | 26/FEB/19 2 2 A

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-40




Overhead Distribution Construction Manual Section 7

7.11 Signs - Pole Attachment

1 | 2 | 3 A 5
A
/_\‘ﬁ
|
B
|
|
|
\
C s [
2 |
I I
g |
o~ I
|
|
D \
|
I
E
NOTES
1. INDEMNITY FORM TO BE SIGNED BY OWNER. REFER TQO NETWORK DRAWING
NP-R-AM-22 ON ATTACHMENT TO POLES
F 2. SIGN LIMITATIONS
MAXIMUM LENGTH - 900mm
MAXIMUM HEIGHT - 500mm
MAXIMUM AREA - 0.2m
3. SIGNS SHALL NOT BE ERECTED ON ANY POLE FITTED WITH
— (a) POLE STEPS FOR CLIMBING.
(b) TRANSFORMER.
(c) HV OR LV FUSES, LINKS OR ISOLATORS.
4, SIGNS SHALL BE FIXED SECURELY TO THE POLE SURFACE. WOOD POLE IS NOT TO SCARFED.
MAXIMUM NUMBER OF SIGNS PER POLE IS TWO.
G 5. WHERE SIGNS ARE FIXED TO TUBULAR STEEL POSTS A STAINLESS STEEL BANDING SYSTEM
IS TO BE USED.
6. WHEN FIXING SIGNS TO STEEL/CONCRETE POLES USE SELLEYS ‘LIQUID NAILS' ADHESIVE.
ENSURE BOTH SURFACES ARE CLEAN AND DRY. APPLY ADHESIVE TO BOTH SURFACES.
PRESS SIGN ONTO POLE AND ALIGN. HOLD IN PLACE FOR ONE MINUTE.
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
; STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
« trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR F OF TASNETWORKS
o |y SCALE
1R TasNetworks TILE
— |8 POLE ATTACHMENTS NTS
< |= SIGNS
o ; ORAWN (5 PRO-SOLUTIONS
w |8 DESIGNED BY | ELECTRO
o
=|e (HECKED BY [ H.WESTBURY AA
-
< APPROVED BY | - _ _ _ _ REVISION
DATE APPROVED [ 26/FEB/19 D QHC G030 SO 001 A

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-41



Overhead Distribution Construction Manual Section 7
7.12 Pole Attachments
7.12.1 Possum Guards
1 | 2 | 3 A 5

WQ0OD POLE

SPLIT BOLT CLAMP

POLE POSSUM GUARD

a

400 MIN.

Q STAY SIGHTERS
T TO BE USED AS
POSSUM GUARDS

3000 MINIMUM

SCREW ANCHOR

GROUND LEVEL

3500 GENERAL OR 3000 CABLE POLE

NOTES
1. POSSUM GUARDS SHALL BE FITTED ON ALL EXISTING WOOD POLES HV & LV EXCEPT THOSE IN THE BUSINESS DISTRICT OF CITIES.
2. WHEN A PRIVATE POLE IS SEEN TO BE WITHOUT A POSSUM GUARD IT IS TO BE RECORDED AS A DEFECT, SO THE CUSTOMER IS
NOTIFIED, OTHERWISE REPLACED ON SITE WITH THE CUSTOMER CONSENT.
F 3. THE POSSUM GUARD MAY BE RAISED TO PROVIDE 1000 CLEARANCE TO THE BOTTOM OF THE POSSUM GUARD FROM ANY FENCE,
STRUCTURE OR HEDGE. THE STAY SIGHTER MAY ALSQO BE POSITIONED HIGHER OR AN ADDITIONAL SIGHTER MAY BE ADDED.
. ANY FOLIAGE WHICH MAY PROVIDE POSSUMS WITH ACCESS ONTO THE POLE SHALL BE TRIMMED OR CLEARED AS APPROPRIATE.
. POSSUM GUARDS TQ BE FITTED 3500 FROM GROUND LEVEL FOR GENERAL POLES AND 3000 FROM GROUND LEVEL FOR
CABLE POLES.
6. COLORBOND(TM) IS TO BE USED FOR ALL POSSUM GUARDS (STANDARD COLOUR MIST GREEN). SI No 18.85.10
— 7. ATTACH THE POSSUM GUARD SO THE FIT IS LOOSE, ALLOWING FOR 25-50mm E.G. LARGE SCREWDRIVER HANDLE OF CLEARANCE AS
PER THE BELOW DIAGRAM. THE LOOSE FIT STOPS WATER RETENTION AND LETS THE WOOD BREATH WHICH OTHERWISE WOULD
PROMOTE SURFACE ROT.

U~

G
INSTALLING CLEARANCE
L INSTALLED ARRANGEMENT
POSSUM GUARD B
TYPICAL SECTIONS /\\\\PiE
H
DIMENSIONS ARE IN MILLIMETRES
GUARD OVERLAP UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
« trading as TasNetworks OR TRANSMITTED BY. ANY MEANS WITHOUT THE
= ~ ABN: 24 167 357 299 PRIOR F OF TASNETWORKS
o |w e SCALE
-2 TasNetworks POLE ATTACHMENTS NTS
<|= POSSUM GUARDS
P 2 ORAWN (5 PRO-SOLUTIONS
w |2 DESIGNED BY ELECTRO
: g CHECKED BY H.WESTBURY AA
<< APPROVED BY - _ _ _ _ REVISION
DATE APPROVED | 26/FEB/19 D O H [ G O 3 W S D O O W A
Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-42



Overhead Distribution Construction Manual Section 7

7.12.2 Banners on Wood Poles

1 | 2 | 3 4 5

BANNERS ON STEEL STREET LIGHTING POLES

BANNERS ARE NOT ALLOWED ON GALVANISED STEEL STREET LIGHT POLES.
GENERALLY BANNERS ON GALVANISED STEEL POLES ARE NOT ALLOWED BECAUSE
— OF THE ADDITIONAL FORCES IMPOSED. STREET LIGHTING POLES ARE DESIGNED

TO CARRY LUMINAIRES ONLY AND THERE IS NO SPARE CAPACITY FOR ADDITIONAL
FIXTURES. BANNERS CAN SET UP VIBRATIONS WHICH CAN RESULT IN METAL
FATIGUE AND SHOULD THERE BE ANY CORROSION AT THE BASE OF THE POLE,
ANY ADDITIONAL FORCES MAY SHORTEN THE REMAINING LIFE OF THE POLE.

THE ONLY EXCEPTIONS ARE THE PURPOSE DESIGNED POLES ERECTED ALONG THE
B MAIN ARTERIAL ROUTE ADJACENT TO CONSTITUTION DOCK IN HOBART. THESE
POLES ARE OWNED BY THE HOBART CITY COUNCIL.

= Hv
ﬁ___»
C
Lol
5
POLE =
=z
=
£
D LV -
-—p
=
o
=
- =
=
|- :
BANNER
E
RESULTANT FORCE ————
«
=5
E Zm
S| E
F < =
=E
GROUND LEVEL S=>

BANNERS ON WQ0OD POLES

BANNERS ARE ALLOWED ON WOOD POLES WITH THE FOLLOWING RESTRICTIONS.

G (REFER TO NETWORK PROCEDURE NP-R-AM-22)

1. MINIMUM CLEARANCE FROM GROUND TO THE BOTTOM OF THE BANNER IS TO BE 3.0 METRES.

2. THIS MINIMUM CLEARANCE IS TO BE INCREASED TO 5.6 METRES IF THE BANNER PROJECTS
OVER A ROADWAY OR IF THERE IS THE LIKELIHOOD OF VEHICLES PASSING IN CLOSE
— PROXIMITY TO THE POLE AND BANNER.

3. THE MINIMUM CLEARANCE FROM THE TOP OF THE BANNER AND LOW VOLTAGE CONDUCTORS
OR STREET LIGHT SWITCHWIRE IS TO BE 1.8 METRES.

H

DIMENSIONS ARE IN MILLIMETRES

UNLESS OTHERWISE STATED

© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
; STORED IN A RETRIEVAL SYSTEM N ANY FORM,
v trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
o |y SCALE
Z 3 TasNetworks TLE
—|a POLE ATTACHMENTS NTS
< |= BANNERS ON WQOOD POLES
o <z( ORAWN €5 PRO-SDLUTIONS
w |8 DESIGNED BY [ ELECTRO
o
= e (HECKED BY [ H.WESTBURY AL
- REVISION
< APPROVED BY |- _ _ _ B
DATE APPROVED [ 26/FEB/19 D OHC G032 SO 007 A

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-43



Overhead Distribution Construction Manual Section 7

Banners on Wood Poles

1 [ 2 3 4 5

BANNERS ON WOOD POLES

A 4. THE MINIMUM CLEARANCE FROM THE TOP OF THE BANNER AND HIGH VOLTAGE CONDUCTORS IS TO BE 3.0 METRES.
5. NO BANNERS ARE TO BE POSITIONED ON ANY POLE THAT HAS AN UNDERGROUND CABLE, TRANSFORMER, RECLOSER OR SWITCH INSTALLED ON IT.
6. THE SIZE OF THE BANNER SHALL NOT BE MORE THAN 1.7 SQUARE METRES.
— 7. NO HOLES ARE TO BE DRILLED OR FASTENERS DRIVEN INTO THE POLE. THE BANNERS ARE TO BE FASTENED BY A BANDING SYSTEM.
8. THE BANNERS SHALL ONLY BE ALLOWED TO REMAIN ON THE POLE FOR A PERIOD OF UP TO EIGHT WEEKS.
9. THE ERECTION OF THE BANNER SHALL NOT CONSTITUTE A CLIMBING AID. THAT IS ANY FRAMEWORK OR STRUCTURE ASSOCIATED WITH THE BANNER SHALL
B NOT GIVE ASSISTANCE TO AN INDIVIDUAL ATTEMPTING TO ILLEGALLY CLIMB TASNETWORKS POLES.
10. THE ERECTION OF THE BANNER SHALL BE SUCH THAT THE RESULTANT FORCE DUE TO WIND SHALL BE PARALLEL TO THE MAIN CONDUCTORS ERECTED ON
THE POLE.
— 11. THE FREE MOVING LENGTH OF ANY BANNER SHALL NOT BE ANY LONGER THAN 1.0 METRE AND SHALL NOT BE CAPABLE OF COMIING IN CONTACT WITH OR
NEAR CONTACT WITH THE OVERHEAD WIRES OR CABLES.
12. TASNETWORKS SHALL NOT BE LIABLE FOR ANY CLAIMS ARISING FROM THE INSTALLATION OR CONTINUED PRESENCE OF A BANNER ON TASNETWORKS POLES.
C 13. PERMISSION TO ERECT A PARTICULAR BANNER ON AN TASNETWORKS POLE SHALL BE AT THE DISCRETION OF THE LOCAL TASNETWORKS REPRESENTIVE
PROVIDED THAT THE ABOVE REQUIREMENTS ARE MET. THE WORK SHALL BE CARRIED OUT TO THE SATISFACTION OF THE TASNETWORKS REPRESENTATIVE.
NO WORK IS TO PROCEED WITHOUT THE EXPRESS PERMISSION OF THE LOCAL TASNETWORKS REPRESENTATIVE.
D
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
« trading as TasNetworks o8 TRANSMITTED BY. ANY HEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
o |w
=13 TITLE SCALE
1 TasNetworks POLE ATTACHMENTS NTS
o BANNERS ON WOOD POLES
o <Z( ORAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO
[+
: o CHECKED BY H.WESTBURY AA
< APPROVED BY | - _ _ _ _ REVISION
OATE APPROVED | 26/FEB/19 D O H [ G O 3 2 S D O O 2 A

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-44



Overhead Distribution Construction Manual Section 7

7.13 Bird Perches

7.13.1 Bird Perch on Wood Poles

1 | 2 | 3 | 4 5
900
T
T
i
NB. MOVE CENTRE PHASE INSULATOR ‘
TO FIRST SPARE HOLE IN CROSSARM TO i
PROVIDE 310mm MINIMUM CLEARANCE F==7 -
B TO ANY CONDUCTIVE PART OF STRU[TURE.% | ES
-
2
&
C
- N 2
A
D g
E
F
72> )
G
BIRD PERCH ARRANGEMENT
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
n STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
» trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
o |y SCALE
— 2 = TasNetworks TITLE
| S POLE ATTACHMENTS 120
alos
< (2|22 BIRD PERCH - W0OOD POLE
x |Z Wz ORAWN (5 PRO-SOLUTIONS GENERAL ARRANGEMENT
w (8|22 DESIGNED BY | ELECTROD
g|Za AL
Iall =3 =2 CHECKED BY | HWESTBURY
: g = APPROVED BY - REVISION
a O p— —_— p— —_—
& % DATE APPROVED | 26/FEB/19 D O H [ G O 3 3 S D O O W A

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-45



Overhead Distribution Construction Manual Section 7

7.13.2 Perch on Stobie Poles

1 | 2 | 3 | A 5
:
NB. 1) PERCH MUST BE INSTALLED PARALLEL TO LINE.
2) SUITABLE ONLY WHERE THERE IS NO CENTRE PHASE.
R . 3) ENSURE THAT LOCKNUTS ARE FITTED.
A —
.
.
i § [
i § |
.
.
-
.
- -
.
-
.
5 |
= -
m -
o -
B ] |
-
‘
.
I § I
i § I
I : I
- B
B [T ° =T
R
(] }
1
RN =
C ; W
iR
e
i ‘ |
|
]
1%
- .
T
s
,%J,L
]
R
D I
.
BIRD PERCH ARRANGEMENT
1000
| |
[ }~——40x3.2 CHS
i
£ /i IN\_SHAPE END OF o
|| TPFC TO SUIT tHS Pl
!
——© n e
- Lo
- | ‘ i
. | |
— . [
- |
B o
. 2 HOLES @18 R
. L =
F - b
- Lo
b
o . P
3 . 75x40 PFC Lo
= - 1 ‘ !
- - o
» )? :
. ! ]
i i I =
I | I 1 ==
ol [
] i
" |
G 3 i |
) DRILLING DETAILS
i
i |
.
i ! | PERCH DETAILS
|
— | MATERIAL : 75 x L0 PFC TO AS/NZS 3679.1 - 300
" 40 NB MEDIUM TUBE TO AS1163 (250L0
[T
L
NOTES
H | 1. REMOVE ALL SHARP EDGES AND BURRS.
2. HOT DIP GALVANIZE TO AS 4680.
3. ALL WELDS 6mm CONT. FILLET TO AS 155&. DIMENSIONS ARE IN MILLIMETRES
L. GENERAL TOLERANCE = +/- 2mm. UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED N A RETRIEVAL SYSTEM N ANY FORM,
4 trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
o |w
2 TasNetworks e SCALE
— 4 POLE ATTACHMENTS 1.20
< |z BIRD PERCH - STOBIE POLE
=< ORAWN (S PRO-SOLUTIONS
x|= GENERAL ARRANGEMENT & DETAILS
w = DESIGNED BY ELECTRO AL
Ll =] CHECKED BY H.WESTBURY
< i D - OHC - G034 — SD - 001
DATE APPROVED | 26/FEB/19 A

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-46



Overhead Distribution Construction Manual

Section 7

7.14 LV UG Cable Termination on Pole

UNDERGROUND (UG) CABLE TERMINATIONS ON POLES

2 |

A REFER SECTION 2 FOR
DETAILS OF LV CONSTRUCTION
L] —
- T REFER SECTION 5.1 FOR DETAILS OF
e 3 ANY LV SWITCHES
INSULATION SLEEVING-
- \_& RED, WHITE, BLUE, BLACK
S OVER 120mm* CU/PVC AND
- 3 CRIMP SLEEVES
CRIMP SPLICES
B TO SUIT CABLE SIZE
NEUTRAL .
4L WAY BREAKOUT BOOT
/ - TO SUIT CABLE SIZE
SEE INSET Z
C
— =
\[ABLE SADDLE TO
SUIT CABLE SIZE
D LV NEUTRAL MEN
EARTH DOWNLEAD\ _
-
12B
E
|-— CABLE N | 10A) CABLE GUARD
F [
7 SES 2N E 2N
I
G
FOR EARTHING DETAILS,
REFER SECTION 12.1
CABLE TEMINATION CABLE GUARD & SADDLES
APLS No: APLS No:
CTP/LV/185Xk CABLEGRD/LV/ 185X
H CTP/LV /240X A4 CABLEGRD/LV/ 240X
CTP/LV/300X4 CABLEGRD/LV/300X
CTP/LV/400X4 CABLEGRD/LV/ 400X BmEENSSs‘Og?H?RRva ‘SNE ”;‘TL;@EEDTRES
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
v trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
> TITLE SCALE
ol I TasNetworks LV UG CABLE TERMINATION ON POLE NTS
<|o
P 2 ORAWN (5 PRO-SOLUTIONS
w |2 DESIGNED BY ELECTRO
o
: = CHECKED BY H.WESTBURY AL
< APPROVED BY | - _ _ _ _ REVISION
DATE APPROVED | 29/MAY/19 D O H [ G O 3 5 S D O O /‘ A
Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-47



Overhead Distribution Construction Manual Section 7

LV UG Cable Termination on Pole — Materials List

1 | 2 | 3 | 4 5
A Store Stock
Unit Assembly Type Item Ref ltem Stock Item Description Quantity
CTP/LV/185X4 S 82C 40440 |NutM12 4
87C 65615 |Washer Ns 12 8
| #N/A 95120 [Cable LV Cu 1c 120mmZc x pvc (Black) 8
141198 |Splice Crimp Bimetal 185A1/120Cu 4c solid Sector/Round 4
168085 |Breakout Boot4 Way 185 to 400mm?LV 1
B 168420 |Cable Sleeve MWTM 25/8 1200mm (Med Wall Mastic) 4
169150 |Cable Sleeve Thin Walled Unlined (38-19mm) - RED 1
169151 |Cable Sleeve Thin Walled Unlined (38-19mm) - WHITE 1
169152 |Cable Sleeve Thin Walled Unlined (38-19mm) - BLUE 1
| 169153 |Cable Sleeve Thin Walled Unlined (38-19mm) - BLACK 1
74K 32212 |BoltHexM12 X50 4
C CTP/LV/I240X4 S 82C 40440 |NutM12 4
87C 65615 |WasherNs 12 8
#N/A 141197 |Splice Crimp Bimetal 240AlI/150Cu 4c solid Sector/Round 4
168085 |BreakoutBoot4 Way 185 to 400mm?LV 1
| 168745 |Cable Sleeve WCSM51/16 1200mm (Heavy Wall Mastic) 4
169150 |Cable Sleeve Thin Walled Unlined (38-19mm) - RED 1
169151 |Cable Sleeve Thin Walled Unlined (38-19mm) - WHITE 1
D 169152 |Cable Sleeve Thin Walled Unlined (38-19mm) - BLUE 1
169153 |Cable Sleeve Thin Walled Unlined (38-19mm) - BLACK 1
74K 32212 |BoltHexM12 X50 4
518 94195 [Cable LV Cu 1c 150mm?c x pvc (Black) 8
CTP/LV/300X4 S 82C 40440 |NutM12 4
87C 65615 |Washer Ns 12 8
#N/A 95185 [Cable LV Cu 1c 185mm?c x pvc (Black) 8
E 141192 |Splice Crimp Bimetal 300al/185cu Round/Round 4
168085 |Breakout Boot4 Way 185 to 400mm?LV 1
168745 |Cable Sleeve WCSM51/16 1200mm (Heavy Wall Mastic) 4
— 169150 |Cable Sleeve Thin Walled Unlined (38-19mm) - RED 1
169151 |Cable Sleeve Thin Walled Unlined (38-19mm) - WHITE 1
169152 |Cable Sleeve Thin Walled Unlined (38-19mm) - BLUE 1
169153 |Cable Sleeve Thin Walled Unlined (38-19mm) - BLACK 1
F 74K 32212 |BoltHexM12 X50 4
CTP/LV/I400X4 S 82C 40440 [NutM12 4
—] 87C 65615|Washer Ns 12 8
#N/A 95240|Cable LV Cu 1c 240mm? ¢ x pvc (Black) 8
141199 Splice Crimp Bimetal 400Al/240Cu Round/Round 4
168085 | Breakout Boot 4 Way 185 to 400mm?LV 1
G 168745/ Cable Sleeve WCSM51/16 1200mm (Heavy Wall Mastic) 4
169150 | Cable Sleeve Thin Walled Unlined (38-19mm) - RED 1
169151 | Cable Sleeve Thin Walled Unlined (38-19mm) - WHITE 1
I 169152 | Cable Sleeve Thin Walled Unlined (38-19mm) - BLUE 1
169153 | Cable Sleeve Thin Walled Unlined (38-19mm) - BLACK 1
74K 32212|BoltHex M12 X 50 4
) |
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
i F THI 0 0f
o © g os Tasvarvare | St B R AT
z w ABN: 24 167 357 299 PRIOR_PERMISSION OF TASNETWORKS -
-2 TasNetworks 1™\ UG CABLE TERMINATION ON POLE NTS
z g ORAWN (5 PRO-SOLUTIONS MATER‘ALS L‘ST
w |8 DESIGNED BY ELECTRO
: 3 CHECKED BY H.WESTBURY AA
APPROVED BY REVISION
= DATE APPROVED | 16/MAY/19 D - O H [ - G O 3 5 - S D - O O 2 A

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-48



Overhead Distribution Construction Manual Section 7
LV UG Cable Termination on Pole — Materials List
1 | 2 | 3 | A 5
A
Store Stock
Unit Assembly Type Item Ref ltem Stock Item Description Quantity
| CABLEGRD/LV/185X S 10A 323326 |Cable Guard Single (wood pole) - Aluminium 1
12B 323371 |Saddle Support Mk71 1
13F 323374 |Cable Saddle Mk74 3
B 84A 50225 |Coach Screw M10X 50 2
87B 65614 |Washer Ns 10 12
#N/A 323333 |Guard Plate with coach bolt 3
— CABLEGRD/LV/240X S 10A 323326 |Cable Guard Single (wood pole) - Aluminium 1
12B 323371 |Saddle Support Mk71 1
13E 323342 |Cable Saddle Mk42 3
84A 50225 |Coach Screw M10 X 50 2
¢ 87B | 65614 |WasherNs 10 12
#N/A 323333 |Guard Plate with coach bolt 3
| CABLEGRD/LV/300X S 10A 323326 |Cable Guard Single (wood pole) - Aluminium 1
12B 323371 |Saddle Support Mk71 1
13D 323341 |Cable Saddle Mk41 3
84A 50225 |Coach Screw M10X 50 2
D 87B 65614 |Washer Ns 10 12
#N/A 323333 |Guard Plate with coach bolt 3
CABLEGRD/LV/400X S 10A 323326 |Cable Guard Single (wood pole) - Aluminium 1
] 128 323371 |Saddle Support Mk71 1
13C 323340 |Cable Saddle Mk40 3
84A 50225 |Coach Screw M10 X 50 2
E 87B 65614 |Washer Ns 10 12
#N/A 323333 |Guard Plate with coach bolt 3
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» trading as TasNetworks OR TRANSHITTED Y ANY HEANS. WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o (Y TILE SCALE
-2 TasNetworks LV UG CABLE TERMINATION ON POLE NTS
<|Z MATERIALS LIST
x (= DRAWN (5 PRO-SOLUTIONS
w |2 DESIGNED BY ELECTRO
: g CHECKED BY H.WESTBURY A[”
<< APPROVED BY REVISION

D - OHC = G035 -

DATE APPROVED

16/MAY/19

SD - 003 A

Ver. 2.0

Other Pole Mounted Plant and Attachments

Page 7-49



Overhead Distribution Construction Manual

Section 7

7.15 11kV or 22kV UG Cable Termination on Pole

1 | 2 | 3 | A 5
REFER TO RELEVANT
A NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE. f@ R L AN 10N 3
Ll = =
y . \ R
- - i
= — o
zx &
S ©
e
ripAg=sl
B 243 2
Ef =
o
&
S —— 128
— ] STRAIN
ARRANGEMENT |~ SEE INSET
L
REFER TO RELEVANT —
C LV ARRANGEMENT
SURGE DIVERTER AND r
TP VIEW CABLE SHEATH EARTH
\Qz
M12 x 35 HEX N
. HD GI BOLTS OH CONDUCTOR
T us caste SUITABLE SIZE il
BIMETAL
SUITABLE SIZE COMPRESSION LUG
D BIMETAL
LL | coMPRESSION LUG TERMINATION BAR |
a S.I. No 30.35.67 A
CABLE BRACKET
= DETAIL ( ) H
i SEE D-UG1-4.4/5-6 FOR
POSSUM GUARD
E P e ot CABLE GUARD DETAILS
REFER TO DRG
D-0H1-0730-SD-001 R
E g
G
NOTES
1. SHEATH EARTH WIRE TO BE 70mm’ FOR 11kV AND 22kV NETWORKS AND 120mm'
FOR 33kV NETWORK. - REFER SECTION 12.6
- 2. MAXIMUM EARTH ELECTRODE RESISTANCE IS TO BE 15 OHMS FOR 11kV, 10 OHMS
FOR 22kV AND 5 OHMS FOR 33kV.
3. FOR GUIDANCE ON INSTALLATION AND CONNECTION OF SURGE DIVERTERS REFER
TO DSD-UG-01 AND INTERIM GUIDELINE DOCUMENT NW30014842.
H
APL Nos
CPA/11/3/PLM DIMENSIONS ARE IN MILLIMETRES
CPA/22/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Nefworks PTY. LTD. NO PART OF THS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
t trading as TasNetworks OR TRANSMTTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y e SCALE
-2 TasNetworks CABLE TERMINATION - HEAT SHRINK 160
< |z INTERMEDIATE/STRAIN 11kV OR 22kV
P ; ORAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO
o
: o (HECKED BY H.WESTBURY AL
< APPROVED BY | - _ _ _ _ REVISION
DATE APPROVED | 29/MAY/19 D O H [ G O 3 6 S D O O /‘ A
Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-50



Overhead Distribution Construction Manual Section 7
11kV or 22kV UG Cable Termination on Pole — Materials List
1 | 2 | 3 | 4 5
A
Store Stock
Unit Assembly ' Type | Item Ref @ Item | Stock Iltem Description Quantity
] CPA/11/3/PLM S 119F | 225772|Lightning Arrester (NOT L/L TESTED) ABB 11kV 10kA c/w bird cap & M12 studs 3
55 |146857|Split Bolt D (up to 19/.101) 1
73F 32191 |Bolt Hex M10 X 100 3
B 75N 32288 |Bolt Hex M16 X 350 3
82A 40441 |Nut M16 3
86B 65158 |Washer Els 16 6
9C 322063 |Standoff insulator bracket for u/g cables 1
|| H#N/A 40439 |Nut M10 6
141358 |Lug Crimp 35mm? tinned copper M10 3
303569 |Copper "T" Bar for S/Off Insulators or L/A's to HV Cables or HYABC 3
C CPA22/3/PLM S 119G |225773|Lightning Arrester (NOT L/L TESTED) ABB 22kV 10kA c/w bird cap & M12 studs 3
555 |146857|Split Bolt D (up to 19/.101) 1
73F 32191 |Bolt Hex M10 X 100 3
| 75N 32288 |Bolt Hex M16 X 350 3
82A 40441 |Nut M16 3
86B 65158 |Washer Els 16 6
9C 322063 |Standoff insulator bracket for u/g cables 1
D #N/A 40439 |Nut M10 6
141358 |Lug Crimp 35mm? tinned copper M10 3
303569 |Copper "T" Bar for S/Off Insulators or L/A's to HV Cables or HYABC 3
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» trading as TasNetworks OR TRANSHITTED 8" ANY-HEANS WITHOUT THE
z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o (w T SCALE
-2 TasNetworks CABLE TERMINATION - HEAT SHRINK NTS
<|2 — Y ——— INTERMEDIATE / STRAIN 11 kV OR 22 kV
= (= el MATERIALS LIST
w | = DESIGNED BY ELECTRO AL
[~4
: o C(HECKED BY H.WESTBURY
< APPROVED BY _ _ _ _ REVISION
DATE APPROVED | 16/MAY/19 D O H [ G 0 3 6 S D 0 0 2 A
Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-51



Overhead Distribution Construction Manual

Section 7

11kV or 22kV UG Cable Termination on Pole — Materials List

1 | 2 | 3 | 4
A
| Store Stock
Unit Assembly Type | Item Ref| Item | Stock ltem Description Quantity
CABLEGRD/11/185X | S 10A | 323326|Cable Guard Single (wood pole) - Aluminium 1
12B  |323371|Saddle Support Mk71 2
B 13C |323340|Cable Saddle Mk40 4
84A | 50225 |Coach Screw M10 X 50 4
87B | 65614 |Washer Ns 10 16
| #N/A |323333|Guard Plate with coach bolt 3
CABLEGRD/11/240X | S 10A | 323326|Cable Guard Single (wood pole) - Aluminium 1
12B  |323371|Saddle Support Mk71 2
C 13B  |323339|Cable Saddle Mk39 4
84A | 50225 |Coach Screw M10 X 50 4
87B | 65614 |Washer Ns 10 16
- #N/A |323333|Guard Plate with coach bolt 3
CABLEGRD/22/185X | S 10A | 323326|Cable Guard Single (wood pole) - Aluminium 1
12B 323371 |Saddle Support Mk71 2
D 13B  |323339|Cable Saddle Mk39 4
84A | 50225 |Coach Screw M10 X 50 4
87B | 65614 |Washer Ns 10 16
— #N/A |323333|Guard Plate with coach bolt 3
CABLEGRD/22/240X | S 10A |323326|Cable Guard Single (wood pole) - Aluminium 1
E 12B 323371 |Saddle Support Mk71 2
13A |323338|Cable Saddle Mk38 4
84A | 50225 |Coach Screw M10 X 50 4
87B | 65614 |Washer Ns 10 16
— #N/A |323333|Guard Plate with coach bolt 3
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
© ©fruding as TasNetworks ORTRANSHITTED B ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w T SCALE
-2 TasNetworks CABLE TERMINATION - HEAT SHRINK NTS
<|Z — — INTERMEDIATE / STRAIN 11 kV OR 22 kV
x|z - e i MATERIALS LIST
w = DESIGNED BY ELECTRO A[”
: o C(HECKED BY H.WESTBURY
< APPROVED BY _ _ _ _ REVISION
DATE APPROVED | 16/MAY/19 D O H [ G O 3 6 S D O O 3 A

Ver. 2.0

Other Pole Mounted Plant and Attachments

Page 7-52



Overhead Distribution Construction Manual

Section 7

7.16 11kV or 22kV UG Cable Termination on Pole with Links

460

460

760

TO CRUTCH
AREA

300

OM
I 1
| |
—

400
22kV__NOM

1380

wn
o
>

M12 x 35 HEX

HD GI BOLTS

UG CABLE

SUITABLE SIZE
BIMETAL
COMPRESSION LUG

F DETAIL ( )

ISOLAT
RESTRI
OPENIN

ON 2

70mm* I
FROM CABLE SHEATH TO STEELWORK

SURGE DIVERTER EARTH

70mm’
WIRE
(EART

SHEAT
70mm*

WIRE TO EARTH ELECTRODE (S)
(EARTH RESISTANCE 30 OHMS MAXIMUM)
REFER

BI

TERMINA

SUITABLE SIZE

COMPRESSION LUG

OR
119G

G

ORS TO BE
CTED TO 90° I P
G | -

2kV plysws CABLE ONLY
INSULATED EARTH WIRE

-
SEE INSET /i_

REFER TO RELEVANT
LV ARRANGEMENT

/

Cu PVC INSULATED EARTH
TO EARTH ELECTRODE (S)
H RESISTANCE 30 OHMS MAXIMUM)

800 NOM

H EARTH (IF SPECIFIED)
Cu PVC INSULATED EARTH

]

SECTION 12.6
OH CONDUCTOR

METAL

TOP VIEW

TION BAR

S.I. No 30.35.67

CABLE BRACKET

— 8L4LA
—=
G
77A
L -]
S.I No. 23.60.88

H INSET

NOTE APL Nos

REFER PREVIOUS SECTION FOR DETAILS CPLA/11/3/PLM DIMENSIONS ARE IN MILLIMETRES

OF CABLE GUARD AND SADDLES CPLA/22/3/PLM UNLESS OTHERWISE STATED

© Tasmanian Networks PTY. LTD. NO PART OF THS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
M4 trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMSSION OF TASNETWORKS
o |w
1 TasNetworks T SILE
— |8 CABLE POLE - RAYCHEM TERMINATION 1.45
<|Z 1kV OR 22kV
x |Z ORAWN (5 PRO-SOLUTIONS
w |8 DESIGNED BY ELECTRO
o
Ll =] (HECKED BY H.WESTBURY AL
-
< APPROVED BY | - _ _ _ _ REVISION
DATE APPROVED | 16/MAY/19 D O H [ G O 3 7 S D O O /‘ A

Ver. 2.0

Other Pole Mounted Plant and Attachments

Page 7-53



Overhead Distribution Construction Manual Section 7

11kV or 22kV UG Cable Termination on Pole with Links — Materials List

1 | 2 | 3 | 4 | 5
A
Store Stock
Unit Assembly | Type [ltem Ref| Item |[Stock Item Description Quantity
CPLA1/3/PLM| S 1G |323309|Crossarm Mk9 2
— 119F |225772|Lightning Arrester (NOT L/L TESTED) ABB 11kV 10kA c/w bird cap & M12 studs 3
2B 323317|Crossarm Strap Mk17 2
59A |322721|Pin,Insulator 22kV 1
60E |320531|Insulator Pin 22/450 1
B 60H |320735|Insulator Raychem standoff 24kV set of 3 1
6A 323315|Insulator Bracket Mk15 1
73F 32191 |Bolt Hex M10 X 100 3
- 75N 32288 |Bolt Hex M16 X 350 4
75P 32289 |Bolt Hex M16 X 375 2
778 33771 |Bolt Tower M12 X 35 12
86B | 65158 [Washer Els 16 6
C 88A | 66412 |Washer Tower 12 12
9C 322063 (Standoff insulator bracket for u/g cables 1
#N/A | 40439 [Nut M10 6
141358|Lug Crimp 35mm?tinned copper M10 3
| 157891 |Redback sleeving 20mm dia. (per 10m coil) 0.2
236088 |Switch Isolator Single 24kV Vertical 24KV w/o Arc-Chutes - ABB 3
303569 |Copper "T" Bar for S/Off Insulators or L/A's to HV Cables or HVABC 3
D 2A 323314|Crossarm Strap Mk14 4
CPLAR22/3/PLM | 1G  [323309|Crossarm Mk9 2
119G |225773|Lightning Arrester (NOT L/L TESTED) ABB 22kV 10kA c/w bird cap & M12 studs 3
- 2B 323317|Crossarm Strap Mk17 2
59A |322721|Pin,Insulator 22kV 1
60E [320531|Insulator Pin 22/450 1
60H |320735|Insulator Raychem standoff 24kV set of 3 1
E 6A 323315|Insulator Bracket Mk15 1
73F 32191 |Bolt Hex M10 X 100 3
75N 32288 |Bolt Hex M16 X 350 4
75P 32289 |Bolt Hex M16 X 375 2
— 778 33771 |Bolt Tower M12 X 35 12
86B | 65158 |Washer Els 16 6
88A | 66412 [Washer Tower 12 12
9C 322063 |Standoff insulator bracket for u/g cables 1
F #N/A | 40439 [Nut M10 6
141358|Lug Crimp 35mm? tinned copper M10 3
157891 |Redback sleeving 20mm dia. (per 10m coil) 0.2
236088 |Switch Isolator Single 24kV Vertical 24KV w/o Arc-Chutes - ABB 3
| 303569 |Copper "T" Bar for S/Off Insulators or L/A's to HV Cables or HVABC 3
2A 323314|Crossarm Strap Mk14 4

G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETREVAL SYSTEM IN ANY FORM,
n trading as TasNetworks OR TRANSMTTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y SCALE
e TasNetworks TITLE
— a2 CABLE POLE - RAYCHEM TERMINATION NTS
<|z 11kV OR 22kV
ORAWN (S PRO-SOLUTIONS
M E MATERIALS LIST
w = DESIGNED BY ELECTRO AL
: o CHECKED BY H.WESTBURY
< APPROVED BY _ _ _ _ REVISION
DATE APPROVED | 29/MAY/19 D O H [ G 0 3 7 S D O O 2 A

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-54



Overhead Distribution Construction Manual Section 7

7.17 11kV or 22kV UG Cable Termination on Pole with Load Break Switch

1 | 2 | 3 | L | 5

REFER TO SECTION 5.7.2 FOR DETAILS OF
SCHNEIDER/NULEC RL 27 LOAD BREAK SWITCH

A INCOMING _ OUTGOING
- %E/ .z

B N 180mm'  COVERED
CONDUCTOR
(SUPPLIED WITH SWITCH)
1 d
—|wn
|z
el
— Z|=
=
ID
ol (35K ) TINNED LUG
4&
=S
=
C =
& - 4
- 4

SCHNEIDER/NULEC RL27
LOAD BREAK SWITCH

D
SHEATH EARTH (IF SPECIFIED)
70mm* Cu PVC INSULATED EARTH

WIRE TO EARTH ELECTRODE (S)
(30 QHMS MAXIMUM)

119G ) 22kV

51D

v /'\Zm 6kN POLE

10A

EARTH ELECTRODE
- MAXIMUM EARTH

RESISTANCE=10 OHMS TOP VIEW

M12 x 35 HEX
HD GI BOLTS OH CONDUCTOR

POSSUM GUARD
TO BE FITTED.

F
UG CABLE SUITABLE SIZE
BIMETAL
SUITABLE SIZE
BIMETAL COMPRESSION LUG
COMPRESSION LUG
— TERMINATION BAR
S.l. No. 30.35.67
CABLE BRACKET
o DETAIL 6 }
NOTES
1. ENSURE THAT EARTHING IS CARRIED OUT IN ACCORDANCE
— WITH THE NULEC TECHNICAL MANUAL USING CU CONDUCTOR
OF MININUM 70mm'. REFER SECTION 12.6 FOR EARTHING DETAILS.
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THS DRAWING MAY BE REPRODUCED,
- g a5 Tosehuorhs e R R
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y T SCALE
-2 TasNetworks SCHNEIDER / NULEC - LOAD BREAK SWITCH/ NTS
=< <_(' DRAWN (5 PRO-SOLUTIONS SE[T‘ONAL‘SER
ME : 11kV OR 22kV TEE OFF TO U/G CABLE
w | = DESIGNED BY ELECTRO AL
o
: © (HECKED BY H.WESTBURY
<< APPROVED BY - _ _ _ _ REVISION
DATE APPROVED | 29/MAY/19 D O H [ G O 3 8 S D O O /‘ A

Ver. 2.0 Other Pole Mounted Plant and Attachments Page 7-55



Overhead Distribution Construction Manual

Section 7

7.18 11kV or 22kV UG Cable Termination on Pole with Vertical ABS

1 | 2 | 3 | A | 5
REFER TO DRAWING D-OHC-J017-5D-001 NB. ONLY TYPE 1 & 2 CONNECTORS ARE TO BE USED ON
FOR AIR BREAK CONNECTION DETAILS = FEEDERS WITHIN 2km OF TERMINAL OR ZONE SUBSTATION
7Y REFER TO RELEVANT
A = . \4 J . A\ HV ARRANGEMENT
o
3
N A [
63C
B 1 < 1\ CONNECTION
St DETAILS
NOTE 1 bt 3]
N
3 B
—— T £ Bl _ \A\\‘\
+ j—
C SHEATH EARTH (IF SPECIFIED) 11 oA
70mm* Cu PVC INSULATED EARTH q
! WIRE TO EARTH ELECTRODE(S) 190
| (30 OHMS MAXIMUM) 2
- Lesod | I
— 8 ] L2B I 9C
I | POWER ON EARTH CONDUCTOR TO BE M
‘ PIPE 70mm* Cu PVC INSULATED N |
i AND CONNECTED TO SURGE
‘ DIVERTER EARTH (CABLE BRACKET)
D AND EARTH ELECTRODE(S). - 2
i (EARTH RESISTANCE 10 OHMS MAX) T -
Y HE
e N |
\\\ | i i
SEE | b S CABLE CRUTCH 4
NOTE 3 I AREA
25| 85
22| S2 _H
E
==
=5
== u \.
DETAIL < E > ||
BN
F M12 x 35 HEX OH CONDUCTOR
HD Gl BOLTS
SUITABLE SIZE
] UG CABLE BIMETAL ] |
COMPRESSION LUG
SUITABLE SIZE
BIMETAL
COMPRESSION LUG TERMINATION BAR
S.l. No. 30.35.67
G
DETAIL ( ) CABLE BRACKET TOP VIEW
NOTES
1 INSTALL REDBACK (S.l. No. 15.78.91) ON CENTRE PHASE AIR BREAK TO SURGE DIVERTER CONNECTING
LEAD.
2. FOR DEAD END ARRANGEMENT, WHERE BACKSTAY IS USED, ENSURE THAT THERE IS A 310mm MININUM
CLEARANCE BETWEEN STAY WIRE AND ANY LIVE PART. (refer to AS 2067 Table 3.1)
3. WHEN LV IS TO BE INSTALLED WITH THIS ARRANGEMENT A 13.5m POLE SHOULD BE USED IN ORDER TO
H MAINTAIN GROUND CLEARANCE.
APL Nos DIMENSIONS ARE IN MILLIMETRES
/1/3, /22/3 UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 traing as TasNshuorks ST B o s s
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y SCALE
~Z 2 TasNetworks T
— 18 CABLE POLE - RAYCHEM TERMINATION NTS
< |= MK5 CROSSARM - VERT ABS
o 2 ORAWN (5 PRO-SOLUTIONS
w |8 DESIGNED BY ELECTRO
o
Ll =] (HECKED BY H.WESTBURY AL
- APPROVED BY REVISION
< _ p— f— p— —
DATE APPROVED | 16/MAY/19 D O H [ G O 3 9 S D O O W A

Ver. 2.0

Other Pole Mounted Plant and Attachments

Page 7-56




